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Topic:- CDP_P2_CTET

" Which of the following characterize the process of development ?
(i) Itisa process limited to childhood.
(i) Itis a life long process.
(iii) It begins at birth.
(iv) It begins at conception.
Choose the correct option :

(1) () (i)
(2) (@ (iv)
(3) (i) (iii)
(4) () (v)
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(1) () (i)
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(3) (i) (iii)
(4) (i) (iv)
[Question ID = 1][Question Description = $13_CDP_Q001]
1. 1 [Option ID = 1]

2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2 ‘Sensitive’ periods of development refers to :

(1) Time spans when the child is ready for certain kinds of learnings.
(2) The time period when children become very emotional.

(3) The time period from conception till birth. |
(4)

4) The time period from infancy till adolescence.
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[Question ID = 2][Question Description = S13_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3)

As a teacher, which of the following would you believe in, if you think that environment is
profoundly influential throughout development ?

(1)
(2)

Provide assistance to children anytime, as with the help of favourable life circumstances
children can recover from early negative experiences.

Providing experiences aimed at promoting change would seem to be little value.
Children who are high or low in a characteristic such as verbal ability will remain so at later
stages. '

Powerful negative events in first few years of life cannot be overcome later.
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[Question ID = 3][Question Description = S13_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4 What is the role of schools in socialization of children ?

(1)

(
(
(

(SR

4

)
)
)

No role

Primary socializing agency
Secondary socializing agency
Tertiary socializing agency
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[Question ID = 4][Question Description = S13_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

®) The ability to ‘Operate on operations’ is acquired in :
(1) Sensori-motor stage

(2) Pre-operational stage
(3) Concrete operational stage
(4) Formal operational stage
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[Question ID = 5][Question Description = S13_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

®  According to Jean Piaget how do children learn ?

(1) Through passive imitation

(2) By active exploration
(3) Through conditioning
(4) By rewards and punishment

S i 3 oTTER T 4 e § 2

(1) TAfeRa et o Jrea| |
(2) Hfd =90 g

(3) ATFEH o HiZEH g

(4) YR 3R g8 g

[Question ID = 6][Question Description = S13_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]



4. 4 [Option ID = 24]

7 Which of the following is an example of scaffolding ?
(1) Repeated practice
Negative reinforcement

s

(2)
(3) Association of stimulus - response
(4) Providing half solved example
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[Question ID = 7][Question Description = S13_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

S}n his theory, Lev Vygotsky proposed that learning takes place in a context.
(1) Psycho-dynamic

(2) Behavioristic

(3) Information-processing

(4) Socio-cultural
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[Question ID = 8][Question Description = S13_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9)



Subhiksha always provides opportunities to the children for creating new knowledge through
new exploration, experiments, games and various practical activities in her class. She wants to
create a

(1) Progressive and child-centered classroom

(2) Teacher-centered classroom
(3) Controlled and exam-centered classroom
(4) Behavioristic and reward-oriented classroom
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1[Q1L1<[ecs)titgn IB =3§1[Question Description = $13_CDP_Q009]
2. 2 [Option I - 34

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)

Assertion (A) : Teachers should use standardized IQ tests to measure the IQ of children.

Reason (R) : IQ test scores help the teachers to predict students” academic performance and
success later in life.

Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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[Question ID = 10][Question Description = S13_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
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3. 3 [Option ID = 39]

4. 4 [Option ID = 40]

11)
Artists, architects and navigators posses high as per Howard Gardner’s theory.
(1) Spatial intelligence

(2) Linguistic intelligence

(3) Musical intelligence

(4)

4) Intrapersonal intelligence
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1[.Q1u<[9;;it?or:] |I|; =411 ;][Question Description = S13_CDP_Q011]

2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

Assertion (A) : Teachers should discourage girls to participate in science and mathematics
classrooms.

Reason (R) : Girls do not have the inherent abilities to study mathematics and sciences.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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1[Q1u<[a;,ti<_>n I||; =415]2][Question Description = S13_CDP_Q012]

2. 2 [Option ID = 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]



13 Which of the following is a barrier in addressing diverse learning needs of students ?
(1) Collaborative learning
(2) Labelling and segregation
(3) Reasonable accommodation
(4)

Multiple pedagogical strategies
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[Question ID = 13][Question Description = S13_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14 Assessment should not be undertaken :

(1) To find out the readiness levels of children.

(2) To identify gaps in children’s conceptual understanding.
(3) To inculcate competitive spirit among children,

(4) To help understand what the child can do.
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[Question ID = 14][Question Description = S13_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

19 According to Lawhrence Kohlberg, moral development :

(1) 1is a discontinuous process that takes place in six stages.

(2) depends on the social and cultural context of the child.

(3) 1is inter related with the IQ (Intelligent Quotient) of children.
(4) depends entirely on genetic or heredity factors.
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[Question ID = 15][Question Description = S13_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

1) Culture of inclusion is promoted through :
(1) Differentiated instruction
(2) Standardised assessment
(3) Segregation
(4) Labelling
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[Question ID = 16][Question Description = S13_CDP_Q016]
1. 1 [Option ID = 61]

2. 2 [Option ID = 62]

3. 3 [Option ID = 63]

4. 4 [Option ID = 64]

17)

To cater to the specific needs of a student with visual impairment in her class, which of the following
pedagogical adaptations a teacher should make ?

(1) Provisioning for visual presentations
(2) Rigid curriculum

(3) Using tactile materials

(4)

4 Standardized assessment
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[Question ID = 17][Question Description = S13_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)

Neera is in middle school and often confuses letters such as writing “bad” as “dab’. This is a typical
identifying characteristic of :

(1) Autism

(2) Dyslexia

(3) Learned helplessness
(4) Dysgraphia
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[Question ID = 18][Question Description = S13_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)

Prem can think of multiple ways of solving a problem and always brings some new ideas to the
discussion. This is a characteristic of :

(1) Creativity

(2) Learned helplessness
(3) Egocentricism
(4) Centration
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1[Q:J¢E=gti9n |I|; =713 ‘])][Question Description = S13_CDP_Q019]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20)

Teachers should consider failure of children as :

(1) Shameful and humiliating for the children

(2) Shameful and humiliating for the teacher
(3) A reflection of the capabilities of the students and their parents
(4)

4) A reflection of the school system being unable to provide conducive environment for learning
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[Question ID = 20][Question Description = S13_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

2)  Active engagement is not promoted in :

(1) Questioning

Rote memorization

(2)
(3) Discovery learning
(4)

Dialogue
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[Question ID = 21][Question Description = S13_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]
22)
If a child is unable to perform well in school the teachers should :
(1) Reflect on the pedagogical strategies and the school environment.
(2) Punish the child and tell the child’s parents to put the child in home tuitions.
(3) Ensure that the child is shifted to a separate section meant for children with low abilities.
(4) Find out the social background of the child because children belonging to certain communities
are not capable of learning.
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[Question ID = 22][Question Description = S13_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Which of the following is NOT a constructive pedagogical strategy ?
(1) Encouraging intuitive guesses
(2) Presenting opportunities for discussion
(3) Encouraging students to reproduce answers from the textbooks as it is
(4)

4) Giving opportunities for guided discovery
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[Question ID = 23][Question Description = $13_CDP_Q023]

1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]
24)

Assertion (A) : The errors made by children during the process of learning should be seen as a
part of their cognitive development.

Reason (R) : Children learn things differently than adults.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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1[Q:Jf;£itci>or:1 |I|g =9€T][Question Description = S13_CDP_Q024]

2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

Neha is always concerned with being the first in her class even if it means cheating. What kind of
goals is Neha setting ?

(1) Mastery - oriented goals

(2) Performance oriented goals
(3) Work - avoidance goals

(4) Failure accepting goals
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[Question ID = 25][Question Description = S13_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26)  Which of the following emotions facilitates the process of meaningful learning ?

(1) Fear
(2) Anger
(3) Joy

(4) Worry
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[Question ID = 26][Question Description = S13_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27)

When Mohit says, “I am good at English. I wrote my answers hurriedly that’s why I did not get
good marks”, he is attributing his performance to :

(1) bad luck

(2) lack of ability
(3) lack of effort
(4) external factors
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[Question ID = 27][Question Description = S13_CDP_Q027]
1. 1 [Option ID = 105]

2. 2 [Option ID = 106]

3. 3 [Option ID = 107]

4. 4 [Option ID = 108]

28)

The process through which we activate and sustain our thoughts, behaviours and emotions in
order to reach our goals is called :

(1) Self - regulation
(2) Assimilation

(3) Inter - subjectivity
(4) Adaptation
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[Question ID = 28][Question Description = S13_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]
29)

Assertion (A) : A teacher can help children understand complex concepts most effectively by the
method of direct instruction,

Reason (R) :  Children learn most effectively when they are passive and information is
transmitted to them.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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1['Q;.1(E:og;itc:or:1 Ilg ==1213]][Question Description = S13_CDP_Q029]

2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30)
An effective pedagogical strategy to promote inclusion in a socio - constructivist classroom is :
(1) Implementation of universal design for learning

(2) Labelling and segregation of children based on their abilities

(3) Labelling and segregation of children based on their economic status

(4)

4)  Fierce competition among children for marks
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[Question ID = 30][Question Description = S13_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- SS_P2_CTET

Y Who among the following said, “English Education has enslaved us” ?

(1) Maulana Abdul Kalam Azad
(2) Rabindranath Tagore

(3) Dadabhai Naoroji

(4) Mahatma Gandhi
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[Question ID = 91][Question Description = S13_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]
2)
Given below are the location of four archeaological sites in India.
(A) Paiyampalli
(B) Bhimbetka
(C) Hunsgi
(D) Burzhom

Which among the following presents the correct order of their locations from North to
South ?

(D) (A B) ©), (D)
(2 B, ©) (A), (D)
(3)  (B), (D), (A), (B)
4 D) (B) (©) (A)
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1['Q1u<[ecs;;itci>or:] IB ==396:;]][Question Description = $13_Social Science_Q032]
2. 2 [Option ID = 366]

3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3)

Match the following in the context of India’s ancient times and choose the appropriate
option.

A B
(a) The composition of the Sangam text (i) 327 - 325 BCE
(b) Alexander invaded the North-West (i) 300 BCE - 300 CE
(¢) The rule of Harshavardhan (iii) 630-643 CE
(d) Xuan Zang comes to India (iv) 606-647 CE

1) (@), (b)-(iii), (c)-(iv), (d)-(
(2 (@-) (b)( ) (c)-(iid), (d)-(ii
(3) (@)@ (b)-(i), (c)-(iv), (d)-(iid
(4)  (a)-(ii), (b)-(iv), (c)-(), (d)-(i

[ LT I

Id § e 999 & gy d frefafag = faam Fifse, o) saga fawe 1 9799 ifsu

A B

(a) HTH Hifged T = (i) 327-3253%7
(b) ufvaHRR § faeRst = SR (i) 30039 -300%.
(c) BHUEH 1 wEA (iii) 630 - 643 3.

(d) IS TN S UG A (iv) 606 - 647 %.

(1) (a)-Gi), (b)-(iii), (c)-(iv), (d)-(1)

(2 (@-@), (b)-(iv), (c)-(iid), (d)-(i)

(3)  (a)-(i), (b)-@), (c)-(v), (d)-(iii)

(4)  (a)-(ii), (b)-(iv), ()-(0), (d)-(ii)

[Question ID = 93][Question Description = S13_Social Science_Q033]
1. 1 [Option ID = 369]



2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]
4)

Chola bronze statues were made using the “lost wax” technique. Following this technique
which material was used first to make an image ?

(1)  Clay

(2) Wax

(3) Molten metal
(4) Terracotta

HAreARTe FiE g qeaHm’ G § o4 St off | 29 qehATe o ST Y g0 gey
gt Ui 5 & e verel = v feran T o ?

(1) fgt

(2) HH

(3) foorell g g

(4) 9l THE (URE)

[Question ID = 94][Question Description = S13_Social Science_Q034]

1. 1 [Option ID = 373]

2. 2 [Option ID = 374]

3. 3 [Option ID = 375]

4. 4 [Option ID = 376]

5)
Which of these statements is/are true about the idea of Sulh-i-kul ?
(A) This idea focussed on a system of ethics-honesty, justices and peace.
(B) An effort was made to frame a vision of governance around this idea.
(C) This principle of governance was not followed by Jahangir and Shahjahan.
(D) Some amount of discrimination between people of different religions was required.
Dptions g

(1)  Only (A), (B) and (C)
(2) Only (A) and (B)

(3)  Only (B) and (C)

(4)  Only (A)



TTH 9 A /H Y Yole-T Fd & fagrn F an § g € 2

(A) I8 Torar Afaewd-samar], =, wifd =i =Fereen 9 g o
(B) =9 foan @ 32— wre g9 o o1 gare e
(C) e % 39 fagia =1 SEr IR wmestel 3 Tem T fawan
(D) fafym= et & @il & &fie e SievE sTreTe o)

faereT :

(1) 9 (A), (B) 71 (C)
(2) AT (A) 91 (B)
(3) (B) T (C)

(4) wEdE (A)

[Question ID = 95][Question Description = S13_Social Science_Q035]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

6)

Read the statements (A) and (R) and choose the appropriate option.

Statement (A) Murshid Quli Khan ordered a major reassessment of the revenues
of Bengal.
Statement (R) : Murshid Quli Khan wanted to reduce Mughal influence in Bengal.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false

i fau Tu e (A) 3 IO (R) F1 S q1 3UFH fashey 1 =979 #L |

HUT (A) :  GUIiQ Pl W A S F T H g UHE W AR 5 w5 ey fean
HNOT(R) :  TUie ol @ amrel H e THE i T HEAT e o)

(1) (A) 3R (R) €T Tt € IR (R) T& <A1 I & (A) i |

(2) (A) @R (R) SFi 98 ¥ AfeF (R) T&l =amen =& & (A) #T

(3) (A) 5@l € @fFA (R) T 2

(4) (A) i (R) S T B |

1[Q:J?gtit?n I|g =3‘Z?i|[Question Description = S13_Social Science_Q036]

2. 2 [Option ID = 382]

3. 3 [Option ID = 383]
4. 4 [Option ID = 384]



' Which of the following statements about the Harappan seals is/are correct ?

(A) Harappan made seals out of stones.
(B) Seals were generally of circular shape.
(C) Seals usually have an animal carved on them.

Options :

(1) Only (A)
(2)  (A) and (B)
(3) (B)and (Q)
(4) (A)and (C)

Frreferfad # 9 37077 get o a1 | i JUE FHeF 98 € 2
(A) TESO GERT & A T | gE §96 o |

(B) & WIHF: e gt off |

(C) HeL H Ush SIHaE shi 3ehfd el ardl of |

fasey :

(1) had (A)
(2) (A) ¥R (B)
(3) (B) #R ()

(4) (A) IR ()

[Question ID = 97][Question Description = S13_Social Science_Q037]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8)

Which one of the following reasons is not true, “Why hunter-gatherers moved from place
to place” ?

(1) They would have eaten up all the available plant and animal resources
(2) Animals move from place to place

(3) Plants and trees bear fruit in different seasons

(4) They were looking for a place to establish kingdom

frefafaa | & S wF 98t 76 8, ¢ SIrges we-Sues e U T 8 gEt WH W
g’ 2

(1) & 78-9 & e, well SR ey 1 @R JETe T 2 9 |
(2) SIER Ueh ST & U S8 S ahd o |

(3) UEI &R el § wo-er STerT- SR HEE H A 9

(4) U T T I T T T T FHF

[Question ID = 98][Question Description = S13_Social Science_Q038]



1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

Who founded Arya Samaj ?
(1) Raja Ram Mohan Roy

(2) Veerasalingam Pantulu
(3) Swami Dayananda Saraswati
(4) Ishwar Chandra Vidyasagar

S HHTS =i FA9AT fRe = ?
(1) =T TR 7

(2) @iwfeTy dqe

(3) Al gYHg Tl

(4) v <z fammarn

[Question ID = 99][Question Description = S13_Social Science_Q039]

1. 1 [Option ID = 393]

2. 2 [Option ID = 394]

3. 3 [Option ID = 395]

4. 4[Option ID = 396]

10)
Why Jyotirao Phule dedicated his book Gulamgiri to American people ?
(1) Some American civil rights activists financed its publication.
(2) America ended slavery a few years before its publication.

(3) This book contains details of the way American Blacks fought in the civil rights
movement.

(4) Phule wrote this book when he went to USA for a short visit.

Sifare el = STUA el iy STafieRt o @Rl o1 @ wuftd w2

(1) o A9 A sifusr AfFaaEicdl 5 59w emE | Aik® 7eg &l

(2) 3HF W H FS WA Yool STALH § S W1 Wed L & S o

(3) = forama H famar & aviF foran w1 € fo S smifient s1eadl = Arifer sifyer sided o=
(4) Tl 7 I8 ford@ d fordl S99 S H U sieTshiias YH0 T o
1[Q1u<[e§ti<_>n |I|; =319 (7)]0][Question Description = S13_Social Science_Q040]
2. 2 [Option ID = 398]

3. 3 [Option ID = 399]
4. 4 [Option ID = 400]



" Match the following and choose the appropriate option.

List 1 List 11
(a) Satya Sodhak Samaj (i) Ghasidas
(b) Satnami movement (i) Haridas Thakur
(c) Matua Sect (ili) Jyotiba Phule
(d) Self Respect Movement (iv) E.V.Ramaswamy Naicker
Options :

(1) )
(2) (@ - ii), (d)-(iv)
(3)  (@)-@), (b)-(i), (c)-(ii), (d)-(iv)
&) (a)Gii), (& (i), (@)-G)

gt et 11

(a) H TNEH FHS (i) EHEE

(b) A STideH (i) =REw 3E

(c) I T (iii) SAfTET Fe

(d) TEEE AR (iv) 3.3 THREETE A
Terere

(D (@)-@), (b)-(iii), (c)-(iv), (d)-(ii)

(2)  (a)-(ii), (b)-(Q), ()-(ii), (d)-(iv)

(3)  (a)-@), (b)~(ii), (¢)-(iid), (d)-(iv)

(4)  (a)-(ii), (b)-(iv), (c)-(ii), (d)-(0)

[Question ID = 101][Question Description = S13_Social Science_Q041]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12) Who raised the slogan “Freedom is my birthright and I shall have it” ?

(1) Lala Lajpat Rai

(2) Chitta Ranjan Das
(3) Vallabhbhai Patel
(4) Balgangadhar Tilak



“TardAar AU s sifuer €, o 58 st e’ we A fee g e 2

(1) el dsT9d T
(2) oA T™
(3) TEAYHE U

(4) = TR foeres
[Question ID = 102][Question Description = S13_Social Science_Q042]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]
13)

Mahatma Gandhi was initially opposed to women's participation in Salt Satyagraha. Who
persuaded him to allow women to join the movement ?

(1) Ambabai

(2) Pandita Ramabai
(3) Tarabai Shinde
(4) Sarojini Naidu

SE3E B HeweE e ek svierer H nfeenel i ariiert % ye § T8 9
e | & foem 3 ofeenedil =01 sidiem § e =l wiefa 27 % fore gamn 2
(1) e

(2) fEan wEE
(3) R I
(4) wUSH g

[Question ID = 103][Question Description = S13_Social Science_Q043]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

" Which of the following combinations is not matched correctly ?
(1) Lord Mountbatten - The last British Viceroy of India
(2) Direct Action Day - August 15, 1946
(3) Bombay Session of the Congress - July, 1946
(4) Dr. B.R. Ambedkar - First Law Minister of India



foreferfiad § & -1 Sere o gifem e E 2

(1) e AR - 9Rd = AfaA fafest arEE
(2) T e feaw - 15 3T, 1946

(3) oUW I A HHAIH - AR, 1946

(4) AR, sfaEHT - YRd % 98 I HAl

[Question ID = 104][Question Description = S13_Social Science_Q044]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

" In which of the following layers of the atmosphere do the meteorites burn up ?

(1) Stratosphere
(2) Troposphere
(3) Thermosphere
(

A

) Mesosphere

Frafafed sl § 9 amHed ot SE-H W= | I fie e - €2
(1) HHIY Hed

(2) &yHEd
(3) I’ IHEd
(4) afedea

[Question ID = 105][Question Description = S13_Social Science_Q045]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

19 Consider the following statements about longitudes.

(A) All meridians of longitudes are of equal length
(B) The value of Prime Meridian is 0° longitude
(C) The equator represents 60° longitude

Choose the correct option.

(1) Only (A) and (B) are true

(2) Only (B) and (C) are true

(3) Only (A) is true

(4)  Only (B) is true



SwiiaR A o faem | frefafad sl w faem #ife
(A)  Gft ey AR F o g9 @l €

(B) WHE IR H1 HH (° I §

(C)  SH=AE 60° SUIaY AP =l Frefud s 21

Wl fawey = 597 SIS :

(1) dFd (A) 3R (B) 94 £

(2) Fad (B) 2R (C) e ¥

(3) Fae (A) TH Tl

(4) 9 (B) §A &

[Question ID = 106][Question Description = S13_Social Science_Q046]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

17 ; ; 2 ;
) Why is torrid zone receiving maximum heat ?

(1) Because sun is exactly overhead at least once a year in tropical region

(2) Because earth is tilted
(3) Because of earth rotation
(4) Because of earth’s revolution

I e £ e e S & 9re i § 2

(1) =it Iourepfesia &3 o &5 § %9 a4 H Uk a1 g4 Sih 92 o S 21 @
(2) i god g B8 '

(3) YT % FUF F HRU

(4) YT =i IHH HA F HRU

[Question ID = 107][Question Description = S13_Social Science_Q047]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4[Option ID = 428]

18)

The opening time of Central Government offices in India is 9:00 a.m. IST, what will be the
local time of opening of the Central Government offices located at 78° East Longitude
near Dehradun and 91°45" East Longitude near Dispur, respectively ?

(1) 0842 am. and 09:37 am. respectively

(2) 09:37 am. and 08:42 a.m. respectively
(3) 0918 a.m. and 08:23 a.m. respectively
(4) 08:23 am. and 09:18 am. respectively



A § Fad TER & FHEfed &1 Ger H1 999 9:00 JaTed (YRGE JHE 999) €| S8gT &
g 78° 4. SR W R fGTR & FHY 91°45° Y, Suiar W feem T WeR % FEiad &
Yo &1 WA 9G4 8 2
(1)  08:42 YaTEA X 09:37 YARA FHHI:
(2)  09:37 YaTgd 311 08:42 YaAlE HHI:
(3) 09:18 gaTEA 3R 08:23 YaTed FHH:
(4) 08:23 gafEA iR 09:18 Yaled HH:
[Question ID = 108][Question Description = S13_Social Science_Q048]
2. 2 Opton 0 - 430]

3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

' Which are the cities connected by Golden Quadrilateral ?

(1) Delhi, Kandla, Chennai and Kolkatta

(2) Delhi, Mumbai, Chennai and Guwahati
(3) Delhi, Mumbai, Chennai and Kolkatta
(4) Chandigarh, Kandla, Tuticorin and Guwahati

Y YR T =g A R S § 2

(1) Teeedt, e, ==, hicih

(2) feoedt, gerE, ==, qaEmEEl

(3) feoed, g, ==, i

(4) =EnTE, HIUSAI, TR, TETRE
[Question ID = 109][Question Description = S13_Social Science_Q049]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

20)

Match List-I with List-II and select the correct answer.

List-I (Forest) List-II (Occurence)
(A) Tropical Deciduous (i) Close to Equator and Tropics
(B) Tropical Evergreen (i) South East USA, South China, South East Brazil
(C) Temperate Evergreen (iii) India, Northern Australia, Central America
(D) Temperate Deciduous (iv) North Eastern USA, China, New Zealand, Chile
(1) (A)-(), (B)-(ih), (O)-(iv), (D)-(ii)
(2)  (A)-(i), (B)-(), (C)-(ii), (D)-(iv)
(3)  (A)-(i), (B)-(ii), (O)-(iv), (D)-(iii)
(4 (A)-(0), B)-(iv), (C)-(iii), (D)-(ii)



FAt-1 <1 Felt-11 & et o 98 Sat 1 997 +i |

g1 (a7) -1 ( erafierfd )
(A) IeurEhfesET qofgrd (i) Y% 1@ U 39 HiZHY o Y
(B) SWTHICHHT TETHRR (i) =fero-gEt @t i =iE T sl g s
(C) T HRTEER (i) WA, ST ST ug HeA STHfER
(D) @i gufard (iv) 34 i SR, =H, =i, faet
(1) (A1), (B)-(itd), (Cr-(iv), (D)-(ii)
(2)  (A)-(iid), (B)-(), (C)-(i), (D)-(iv)
(3) (A1), (B)-(i1), (C)-(iv), (D)-(ii)

(4)  (A)-(), (B)-(iv), (C)-(iii), (D)-(ii)
[Question ID = 110][Question Description = S13_Social Science_Q050]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]
21)
Choose the correct option for the statements given below.
(A) Endogenic forces sometimes produce sudden movements.

(B) Sudden moments like earthquakes and volcanoes cause mass destruction on the
surface of the earth.

(1) Both (A) and (B) are correct and (B) is the correct explanation of (A)

(2) Both (A) and (B) are correct but (B) is not the correct explanation of (A)
(3) (A) is correct and (B) is incorrect

(4) (A) is incorrect and (B) is correct

TfatEd Al o fau wel faehed 1 =74 Hifs |
(A) Siceifd o (TSRt B) F3fi-h smewfes T 3w §
(B) Y& iR sarergEt Sl enenfge fa & R gedt @ Ode W i wif St &
faerea
(1)  (A) 3 (B) Ei ®&l € T1 (B), (A) &t |l == &
(

(2)  (A) 3R (B) &I WEl € T (B), (A) F HEl AR el ©
(3) (A)TE € TN (B) Ted €
(4) (A) el € 941 (B) el ®

[Question ID = 111][Question Description = S13_Social Science_Q051]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

22)



Which among the fo]lowing statements is correct ?

(1) Troposphere contains a layer of Ozone gas which protects us from harmful effect of
the sun rays.

In stratosphere, Meteorites burn up on entering from the space.
In Mesosphere, temperature rise very rapidly with increasing height.

T R e
= L
T ™

In Thermosphere, radio waves are reflected back.

feaddsn-mFrad € ?

(1)  sitsmoee ; 39H Sl 19 1 9 U6 St & 0 e o ot foreoll & aifvepner wema 9 a=rdt
gl

(2) THATIHUSH : STafel ¥ A i dlel ool TUe 39 U | 8T W &l 9 € |

(3) TEANUSH : 59 A H dgdl s % G araue ST diear § el § |

(4) SR AEgHYEd  fedl 9 39 U gR1 YA qUEtdd L & St €

[Question ID = 112][Question Description = S13_Social Science_Q052]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

23)
Consider the following statements about insolation and choose the correct option.
(A) Insolation is the incoming solar energy intercepted by the earth
(B) The amount and the intensity of the insolation vary during a day, in a season and in

a year

(C) The amount of insolation increases from the equator towards the poles.
Options :

(I) Only (A) and (B) are true

(2) Only (B) and (C) are true

(3) Only (A) and (C) are true

(4) Al (A), (B) and (C) are true



9 % 9 ¥ fau mu frfafaa suE o ofee a9 fagen & = Fifeu)
Tl § A 9l 98 Sl fore g T ol €, S heern! § |

(B) AU =i {1 iR werern feAt §, Fgeq # R SR aeerd el § |

(C) S =1 9 JHeA T 9§ el i i Fadt 7

faereu :

(1) e (A) a1 (B) Hel 8 |
(2) A (B) 991 (C) Tl T
(3) A (A o (C) WEl 2 |
(4)  (A), (B) T (C) W €1

[Question ID = 113][Question Description = S13_Social Science_Q053]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

" Which means of transport of India has the largest network in Asia ?

(I) Roadways

(2) Railways
(3) Waterways
(4) Pipelines

TR H 9RA % FoRY ARG % WIEE w1 9ay 9 oA 8 2

(1) HeFAF
(2) XEHw
(3) el
(4) I

[Question ID = 114][Question Description = S13_Social Science_Q054]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



) Choose the correct option for the given statement.

Human being are a special resource because of
(A) Skills

(B) Knowledge

(C) Technology

(D) Personality

Options :

(1) Only (A) and (B)

(2) Only (B) and (C)
(3) Only (D)

(4)  Only (C)

fou u woF & fou 9t fasey =1 997 Fifeu .

A Tk (9 §9re fom| e 2 7
(A) PR
(B) @M
(C) Ui
(D) =AferIca
fereney -
(1) Fad (A) 991 (B)
(2) aEd (B) 991 (C)
(3) e (D)
(4) e ()
[Question ID = 115][Question Description = S13_Social Science_Q055]

1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]
26)
Consider the following statements.
(A) Metallic mineral mainly found in sedimentary rocks.
(B) Mineral fuels such as coal and petroleum are also found in the sedimentary strata.
Choose the correct option.
(1) Both (A) and (B) are true but (B) is the correct explanation of (A)
(2) Both (A) and (B) are true but (B) is not the correct explanation of (A)
(3)  (A)is true but (B) is false
(4) (A) is false but (B) is true



e ol W o= sifs -

(A) ®ifcas TS &r: SFEHe 9 998 § 91 S 3 |

(B) Wil e S e iR Y2iferay oft stardret w ¥ U S
wal fasrey 1 999 Hifau)

(1)  (A) @1 (B) ]I Wel € a1 (B) Wal s8Rl & (A) Hi |

(2) (A)an (B) 3 wEl €, for (B) wel == 781 € (A) #

(3) (A) W@ &, freg (B) TTerd 1

(4) (A) T B, T (B) WE B

[Question ID = 116][Question Description = S13_Social Science_Q056]
1. 1 [Option ID = 461]

2. 2 [Option ID = 462]

3. 3 [Option ID = 463]

4. 4 [Option ID = 464]

27)

What do we call the rows of trees are planted to check the wind movement to protect the
soil from erosion ?

(1) Intercropping

(2) Shelter belts

(3) Contour planting
(4) Strip plantation

el shl 3 AR okl &1 el Sl @, Sl Jal i T9Ed § o=M =g 91y i Tfd sl Uehd o ford emms
S E 2

(1) sidu w&H
(2) onEE

(3) HHRE AT
(4) TEIRR T

[Question ID = 117][Question Description = S13_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]
28)
Values, beliefs, ideas and characteristics passed from one generation to the next is called :
(1) Customs
(2) Ethnicity
(3) Culture
(4) Assimilation



T id § gud W # exiaf ge, favardi, faewi 3 aamn @1 wed ¥
(1) Fam/Efs
(2) eI
(3) wEHfd
(4) SATHHRHI
[Question ID = 118][Question Description = S13_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]

3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

e Identify a behaviour/situation which reflects Prejudice’.

(A) Giving preferential treatment to English speaking people

(B) Making friends with people of one’s own caste and religion only
(C) Separate queues for females and males

(D) Paying homage to places of one’s own religion

Choose the correct option :

(1) (A) and (D)

) (A) and (B)
(3) (C) and (D)
(4) (B) and (C)

34 raer/fefa 1 gt < qatre’ 8 wfafEfaa wwd §
(A) SIS e aTal %l SFaeR § wefHeRd & |

(B) AW 3194 HH § SIfd & AN I 9 S

(C) wfeensii ua gyl & fAw stem dfe=i 8|

(D) a9 HH o Yo T4l 1 THE HEAT
Hﬁ'ﬁﬂﬁqﬁﬂﬁ'@:

(1) (A)H"'"(D)

(2) (A)T
(3) (©@:n (D)
4) (B) (O

[Question ID = 119][Question Description = S13_Social Science_Q059]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

30)



Consider the following statements :
(A) Costa Rica is considered to be one of the healthiest countries in Central America.

(B) Instead of spending money on Army, Costa Rican Government decided to spend on
safe drinking water, sanitation and nutrition.

Choose the correct option

(1) Both (A) and (B) are true and (B) is the correct explanation of (A)

(2) Both (A) and (B) are true but (B) is not the correct explanation of (A)
(3) (A) is true, but (B) is false

(4) (A) is false, but (B) is true

=1 e W faar =ifse
A)  HEIERT w1 Ty SR 1 Ged R <91 }IH Sl § |

(

(B) el 1 G A AT A e ) A A o g T, e S i e
F =1 i fean

Wl farey =1 997 i

(1) (A ) eI (B) BT TR €, 3R (B) TE =A@ Rl & (A

(2) (A)qn(B) 3 W& €, for (B H@W@Tﬁ%% A)a?n

(3) (A)Gﬁf% fohg (B) T 2|

(4) (A)7TeE &, g (B) WEI 1

1[Q1L1<[egtitgn |I|; =417 3;)][Question Description = $13_Social Science_Q060]

2. 2 [Option ID = 478]

3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

3 Which of the following statements is true about democratic government ?

(1) Government has the power to make decisions but not to enforce its decision

(2)  Without laws the government’s power to make decisions is not of much use
(3) In representative democracy people do participate directly
(4) In a democratic government few adults are allowed to vote

Tk JSII5F TR & fou fe § 4 S e 98t &2

(1) TN % U FHEF S I dehd ol el &, T ] i i T |

(2) A o R @ ol o i wifed @ e a1l el S E
(3) fafafy dieds | & goet 59 8 9 o €

(4) YIRITF OCRR H S TR H G2 S H1 AT G £ |
1[Q:J«E=;titgn I||; =418 f]1][Question Description = $13_Social Science_Q061]
2. 2 [Option ID = 482]

3. 3 [Option ID = 483]
4. 4 [Option ID = 484]



32 : ; ; ;
" Most of the working women in India are engaged in

(1)  Agricultural work
(2) Medical profession
(3) Teaching work

(4) Private companies

qd H sAferehier sherrsit Afeand fFrefafaa &9 § &1 i € -

(1) -

(2) Tafmsa 94
(3) T

(4) Tosit Saf |

[Question ID = 122][Question Description = S13_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

33 . : ; 5 2
) Which of the following is/are true in reference to minimum wages ?

(A) Minimum wages are not meant to protect workers.
(B) A worker has to be paid less than the minimum wages by the employer.
(C) Itis legal to deny workers the wages as fixed by the government.

Options :

(1) (A)and (B)
2 (B)and (©)
(3) Only (A)
(4)  Only (C)

AT 9 & Had H HmH H/H FH T € ?

(A) =ITdH S o1 FFH TGl bl Y& YSH A o Toll 7@l o= 7T §
(B) U Helgl 1 JAqH a9 U HH Teigdl & = ¢

(C) TR gRI WGyl o fer rAfesra fofran won Sa 1 &1 TR - vl @
faareT

(1)  (A)7=(B)

(2) (B) T (C)
(3) A (A)
(4 = ()

[Question ID = 123][Question Description = S13_Social Science_Q063]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]



34)

It is the decision of the that creates a democratic government and decides
about its functioning,.

(1) elected government

(2) people of India

(3) members of Rajya Sabha

(4) ~members of Lok Sabha

K =1 o= 21 €, ST U ciehdiish SR o] & IR $5e IS & 9 | o
AT

(1) Taifaa wwwr

(2) WA & @Rl

(3) TEIHH &% G

(4) ARG F T

[Question ID = 124][Question Description = S13_Social Science_Q064]
1. 1 [Option ID = 493]

2. 2 [Option ID = 494]

3. 3 [Option ID = 495]

4. 4 [Option ID = 496]

35)

The women as cempared to men labor both inside the home and outside. This condition
is referred to as

(1) Double burden
(2) Over burden
(3) Double duty
(4) Over time

TEY i e W o H SR S % 9l S SeTel W U A9 o 9 wiger i frafq
F w1 H fAfde T

(1) U«
(2) #AfgaR

(3) QRO HH
(4) Sfugeg

[Question ID = 125][Question Description = S13_Social Science_Q065]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]



36)

The Preamble of the Constitution of India does not refer to justice.
(1) Social

(2) Economic

(3) Legal

(4) Political

T o W ot gEee o = ] Ieord TRl TRl T
(1)  HHTfseR

(2) ewf¥E

(3) LA

(4) TsHIfd®

[Question ID = 126][Question Description = S13_Social Science_Q066]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

37)

If Rishad from Parsi community opened an Educational institution based on the teaching
of his faith, Which of the following constitutional provisions enabled him to do so ?

(1) Right of freedom of religion

(2) Right to equality
(3) Right to cultural development and education
(4) Right to freedom

ST Ut e | g STt stmeen & e 3 ST W e Sk deH e g1 frefatad
H { hH-91 Y9 39 U F3A & fou 99 5951 € 2

(1)  =fHer s &1 sAfaesn
(2) HHM 1 SHHR
(3) HiwRfah fasm s foen &1 sifusmr

)
(4) Tl o AR

[Question ID = 127][Question Description = S13_Social Science_Q067]
1. 1 [Option ID = 505]

2. 2 [Option ID = 506]

3. 3 [Option ID = 507]

4. 4 [Option ID = 508]

*®) Who is the final interpreter of the Constitution of India ?

(1) Legislature
(2) Executive

(3) Judiciary
(4)

4 Parliament



Hfaer =t =aren o1 Afwr ger ¥ 4 frges e 8§ 2

(1) faerfa=r

(2) FEUITETERT

(3) =R

(4) HE
[Question ID = 128][Question Description = S13_Social Science_Q068]
1. 1 [Option ID = 509]

2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

39)
In 2005, a high level committee chaired by Justice Rajinder Sachar studied and examine
the status of the Muslim community in India
(A) Economic (B) Political
(C) Social (D) Educational

Choose the correct combinations to fill in the blank.
(1) Economic, Poelitical and Social

(2) Economic, Political and Educational

(3) Political, Educational and Social
(4)

4 Economic, Social and Educational

2005 ¥ = TFSTeL H= @l S1EaaTd] H S GiAfd = wid ¥ g™ gagE i
ferfa =1 e oiR SitE &

(A) amfeR (B) TSHITa

(C) HmIfsER (D) dfers

TEor ¥ 1 93 o T Tl HATS 1 9949 il ;

(1)  enfeer, TsHifa® Sk |mifss

(2) enfeen, Tsrifae @it difers

(3) UsiHIfa, dfees iR mfes

(4) onfie, grafaes o) Sifes

[Question ID = 129][Question Description = S13_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

*" Which real life incident established the right to livelihood as part of the Right to Life ?

(I) Once some slum-dwellers were evicted from Mumbai city
(2) Injured farmer Hakim Sheikh

(3) Discrimination faced by Omprakash because he was a Dalit
(4) The protest of Samyukt Kisan Morcha (SKM)



g Sifa =i arcdfaes =291 | Siaq & IR & e & T9 § eqrsifasht o afasr i wenfyg

feram 7

(1) UF IR Fo grianaal w1 ga3 vat § = e fom mn o
(2) =@ fFEm TR E

(3) Y 1 2§ F HRO GEUTE FH WA FHEAT gl
(4) Sy feam gt (wEeun) w1 fay

[Question ID = 130][Question Description = S13_Social Science_Q070]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

41)

One can use the word CE (Common Era) in place of

(1) BCE
(2) AE
(3) AD
(4) ACE

. (T T) 958 F 9 & T T Toma S geRar B

St i3 (forer wim @) | S gd
TE

TE. (T ST )

TS

[Question ID = 131][Question Description = S13_Social Science_Q071]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

42)

The following are statements regarding interdisciplinary approach to social sciences.

(A)

(B)
(©

(D)

All themes must be discussed in an interdisciplinary manner

For an enabling curriculum, interdisciplinary thinking is required

The boundaries of disciplines need to be opened up, and a plurality of approaches
are applied to understand a given phenomenon

The discipline that make up the social sciencesi.e,, history, geography, political science
etc. have distinct methodologies.

Choose the option comprising correct statements

(1)
(2)
(3)
(4)

(A), (B) and (C)



g famm =1 siafdufes surm & ey § fefafed wam 2

(A) @it e Y siafaufae a@i & e (=) 3 =)

(B) AT I ATell Wi & fom, fafautys e smevas §i

(C) Towai =t uftferali =n1 @iei =i STeEvdehal @ a1 Yo Y13l sl HHeH o fag 3urmi i

STEeAdl 1 TART feRe ST # |

(D) fawa <t wrfom fomm, smm € S sfrem, i Terfaes faam sfz = fafre fafa-d3
gl

e Al a1 fasey 1 =999 Fife

(1) (A), (B) 3 (C)

(2) (B), (C) ¥R (D)

(3) (A), (B) ¥ (D)

(4 (A), (© =1 (D)

[Question ID = 132][Question Description = S13_Social Science_Q072]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

43)

Story-telling method in teaching a social science subject is most useful for which level of
education ?

(1) Foundational level

(2) Preparatory level

(3) Secondary level

(4) It can be used across levels

arifsien e fama & forerr & e we =1 fafy feg ww =it fen 3 o gaifus swam € 2
(1) I &=

(2) URPF &

(3) TR w=Y

(4) I% T TR W ITIN & Hehdll §

[Question ID = 133][Question Description = S13_Social Science_Q073]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

44)



In this situation of discomfort with respect to certain terms or concepts in social science,
what is expected from a teacher ?

(1) She should not bring up such issues in the classroom

(2)  She should avoid teaching such topics

(3) She should teach with sensitivity while respecting everyone’s dignity
(4)

4 She should read out loud and go to next topic

At foam § Fo sl sieen Hohedisll & Had | rHesa ol feufd § wh e 9 0
aTferd & 2
(1) 8 uF fauai =1 e § =70 @ =feg

(2) 34 UH fawdl = foso 9 o= =y
(3) Hft & TS w1 THEE Fd g IH Hogavied % 51-9gHE] =fey
(4) <9 I TR T v =ifen iR erer fawa e S =y

[Question ID = 134][Question Description = S13_Social Science_Q074]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

45)

If a teacher of Andhra Pradesh is teaching a topic of equality, the socio-economic conditions
of which of the following may find a mention as a more relevant example for the
discussion ?

(1) The Chenchus

(2) The Baigas
(3) The Mishmis
(4) The Orans

S HAY-9e9 i Uk fofagem ‘gamar’ fawa =1 s ) @ § 9 Fefafas § 9 frast
Hrifeer-anfdes fefad =1 sooa uim=l & fau v sifus yEfrs Serrw & w9 9 2 ?

(1) =

(2)
(3) fafms
(4) 3m
[Question ID = 135][Question Description = $13_Social Science_Q075]

1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

46)



While teaching a topic such as food security, which of the following may be more
appropriate in the social science class ?

A) Students need to be taught only the textbook contents on food security
B) Watching a film on Bengal famine

C) Archieved photographs of green revolution

D) Interacting with students taking mid day meal

) Only (A)
2)  Only (A), (B) and (D)
3) Only (A), (B) and (C)
4) Only (B), (C) and (D)

gt fasm &1 e | T geen S fava &1 vy wv, fefafed § 9 eF-a1 () s
ST B 2

(A) fornfefli =1 Fae @ GIET W TS Fi fad-a%g € Uei S i SEvaskhdl ¢
(B) @ H g (37hE) T Farad (frem) S@

(C) = wifd & Preifad wRrE (fo)

(D) Toe € den(2vex) e o faenef=i & are ureafir i

faerey :

(1) e (A)

(2) S (A), (B) ¥R (D)

(3) T (A), (B) ¥R (C)

(4) e (B), (C) R (D)

[Question ID = 136][Question Description = S13_Social Science_Q076]

1. 1 [Option ID = 541]

2. 2 [Option ID = 542]

3. 3 [Option ID = 543]

4. 4 [Option ID = 544]

47)
Which of the following activities are appropriate to analyse and imagine the concept of
colonialism by the middle level students ?
(A) Watching the movie Lagaan or similar movie in any modern Indian language
(B) Deliver a lecture on the topic based on the textbook contents
(C) Role play on the life of Mahatma Gandhi in one of the movements
(

D) Dictate the details of important points on the way colonialism practised during

British India
Choose the appropriate option.
(1) (A) and (D)
(2)  (B) and (C)
(3) (A) and (C)
(4) (B) and (D)



= | S wfafaferr fafes @ w sftrmerdisli § sufEwae & Syed #1 s s
39 faweray 8 SugE @ 7

(A) YFF I o § o A1 39 S & FE W fren g

(B) UEAYE T B TS fauE s W SHIid e () S

(C) st wa sticier | werem Mt o Sfed W F=i gh fient e

(D) fafew wrd d sufaerare f59 @ 9 o1 3594 Hafyd g fag3l ol et feraarm|
39 foshed =1 == Fifeg |

(1) (A) 7= (D)
(2) (B) @ (C)
(3) (&) @5 (©)

(4) (B) @1 (D)
[Question ID = 137][Question Description = S13_Social Science_Q077]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4[Option ID = 548]

48 i E s : " : :
ral activities provide oppor es fo social science students for
) Cultural activiti provide opportunities t al tudents f

(1)  Self-expression
(2) Discrimination
(3) Self-centredness
(4) Alienation

wiepfas fafafiei gefse faem & o6t @ yem wd €
(1) sTH-A=1f & ST
(2) YRYE % I
(3) SRR & ST
(4) SAoE
[Question ID = 138][Question Description = S13_Social Science_Q078]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]

3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

49)



Which of the following should be done by a social science teacher in order to address the
diversity existed in the class and in society ?

(A) Include examples of multiple cultures in the class discussions

(B) Take up only example that are relevant to the majority

(C) Encourage students to share their personal experiences in the class
(D) Guide the students to appreciate the diversity

Choose the correct option.

(1) (A), (B) and (C)
() (A), (B) and (D)
(3) (A) ©) and (D)
(4)  (B), (C) and (D)

S e e s g/ e o e § e ey o1 gaifud +:0 % fou frefafaa
o 4 71 fepan sA7 =nfen ?

(A) el Ui==lel § ag-aepfadl & el &1 aimfad w

(B) et S Sereull i Send (W = i) Sl Iggers % fau wrdh 6
(C) faenfefadi =it wen | e Fasft erqual =1 amen #3 % faw Ifa =Y
(D) fomnfei=i =t fafaruan st G 7 8 HREal L

& fasrey #1947 Fife

(1) (A), (B) ¥R (C)

(2)  (A), (B) &R (D)

(3) (A), (O ¥R (D)

(4) (B), (O) 37 (D)

[Question ID = 139][Question Description = S13_Social Science_Q079]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50)



Which of the following questions promote critical thinking skills among social science
students ?

(A) Is it correct to say women should not be in politics ? Give reasons.
(B) What are the differences between evergreen forest and deciduous forest ?

(C) What do you mean by earthquake ? Describe three waves that originate during
earthquake.

(D) What does the word ‘equality’ means in the Preamble of the Constitution ?
OpﬁcmS'

(1) Only (A)

(2) y (A) and (C)

(3) Oﬂly (A) and (D)

(4)  Only (A), (C) and (D)

Frafafed § § #F-8 97wt fagm & faefR § seEqes fHa #ie #1 deafed
FAE 7

(A) N I% e TEI ¢ o wfeensdi o1 werifa & =2 S wifew ? o ifs

(B) WeRfd ol iR TdsTSl a1 H & AW E ?

(C) &Y H SATYehT A A9 & 7 5T § 3¢9 o1 qifl il ST Hife |

(D) e =t v o g 9eg o e 3y ¥ 2

oo :

(1) =ad (A)

(2) A (A) 3R (Q)
(3) e (A) R (D)

(4) e (A), (C) R (D)

[Question ID = 140][Question Description = S13_Social Science_Q080]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

51)



To create quality teachers for social science teaching in schools, which of the following

aspects pre or in-service training programmes should take care of ?

(A) Emphasis on textbooks as the only source of pedagogy

(B) Teachers should be oriented to encourage rote memorisation of the content

(€) Teachers should be exposed to different strategic planning and collection of resources

(D) Theuse of Teacher Handbooks in the different disciplines of the social sciences should
be made mandatory

Options :

(1) (A), (B) and (C) only

(2) (B) and (C) only

(3) (©) and (D) only

(4)  (A) and (B) only

Terreri § wfser formm faam & fere quramn arel e Tan & * fog fefafed dargd o
Had, vivrE swrEndl | o SAEmi 6 e W@ 9Ey ?

(A) Tormeme & TsaE S % %9 H YIgagEs W aw

B) forer I fawa o & Z9aq Fo FU I Wedifed #=1 % foru s9y@ @ =nfen

[Question ID = 141][Question Description = S13_Social Science_Q081]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

52)



Read the following statements (A) and (R) and choose the appropriate option.
Statement (A) : Holistic understanding of social science at the middle stage is
possible through interdisciplinary approach
Statement (R) : Social science curriculum in India is organised mainly through

disciplinary approach
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
3) (A)is true but (R) is false

(
(
(4) Both (A) and (R) are false

frefefad wert 1 (A) 991 (R) ufge @it w8l faspeq &1 =97 Fifay ;

HYF (A) A TR 9 HIfeR {6 e gee sid: st SURTH g EYE |

HROT(R) :  9Rd H wifses fogm wea=e gega: fawt surm g1 senfyay/sifse i
A |

Wl Ty g4 |

(1) (A) 3R (R) S W&l € 2iR (A) T (R) |l =me il 2|

(2) (A) ER(R) SFT T& € @feRT (A) 1 (R) 981 =0 =8 3 €|

(3) (A) WE € <ifehd (R) TTed 2 |

(4) (A) 2R (R) 2 e B |

1[Q:n[e;:tci>or:| |I|; =516 :]2][Question Description = S13_Social Science_Q082]

2. 2 [Option ID = 566]

3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

53)

With regard to understanding social science as a discipline, consider the following statements

and choose the correct option.

I.  The disciplines in social science have distinct methodologies and hence disciplinary
boundaries should be preserved for a better understanding of the social phenomena.

II.  Social science as a discipline is interpretative in nature and hence do not lend itself
to scientific inquiry.

(1) Only I is correct

(2) Only I and II are correct
(3) Both I and II are correct
(4) Both I and II are incorrect



Tt faam il T favg-favm & ¥9 § 9o & 999 0 fFefafes § s w faar ifse
a9 Hel fasreq 1 =994 Hifeu |

1. gmfses fagm & faua-fagml § fafore wefml @ oiv s sremafes dimed = gmifses
R &1 Sedt 99 F foag dxfam & =fen
1. fawa-fag & w9 & gmfes faam w@ey O srennss 8 o6 st s" & fau

SUTH T T
faemeT
(1) FacT [HE &
(2) el 11 9el &
(3) I#RIIEH T §
(4) 1SR IEA e &

[Question ID = 143][Question Description = S13_Social Science_Q083]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

" What steps could be taken if one feels that the sources might be fabricated ?

(A) Imagine about mental health of the person who documented the source
(B) Check the material from which the source is made
(C) Carroborate the source with other accepted sources

Options :

(1) Only (©)

(2) Only (A) and (B)
(3) (&), (B) and (C)
(4)  Only (B)

3 fordt =1 T @ ToR i 71 T € gehd € ol 9 el 3210 §H d1fed ?

(A) T =i 1 g T o1 39 =fe & Amfas e & 9 H a1 @ |
(B) 3% Wt ! gEAT ahife FSEs w6 S e

(C) Eid =l 3171 Wigha Sidi o 919 9 Hifeu)

fawea -

(1) =9 (C)

(2) FHE (A) 3R (B)
(3) (A), (B) 3R (O)
(4) A (B)

[Question ID = 144][Question Description = S13_Social Science_Q084]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]



4. 4 [Option ID = 576]

55)

Which of the following rubrics may be more appropriate for doing projects on the topic -
French Revolution ?

(A) Analytical Rubric

(B) Checkist

(C) Holistic Rubric
Options :

(1) Only (A)

(2)

(3) Only (C)
(4)

‘“wig & it fawg I S are ufEse & foau fefafad § 9 s-w safie stas
ERRESEIL

(A) foeeroumedes waftr

(B)  itergeh
(

C) W9 T
faeea .

(1) e (A)

(2) (A) =R (B) g
(3) Ee (Q)

(4) (B) ¥R (C) T

[Question ID = 145][Question Description = S13_Social Science_Q085]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

56)



Which of the following questions attempt to assess factual knowledge of social science
students ?

(A) Recently Article 370 has been removed from Indian constitution. What are pros
and cons of this Act ?

(B) Describe the movement of Sun from Tropic of Capricorn to Tropic of Cancer

(C) Do you think the right to freedom of religion in India works properly ? Does it make
India a secular state ?

(D) How is earth divided into different hemisphere ?

Options :

(1) (A) (B) and (C)
(2)  (B), (© and (D)
(3) (A)and (D)

(4) (B) and (D)

et # & - e qrfsres fomm & faenfelai 3 aeamns aF % aeher &1 T3
g7

(A) T S H IR diauE ¥ s=e 370 g2 fom T ¥ 1 39 U % us oI fauy wn E?
(B) HeR L@ ¥ SHeh (W@l ol X HA i 7 i SAWAT HIfST |

(C) =1 319 A= & fom vz # ud & deiy  wadsan wn sifuer 9@ yer 4 Feifsa @
T2 1 IS YRA | Ush YHMATYST 391 ST E 2

(D) gt = fafv= el o & fawfsa ez mn &

fawea :

(1) (A), (B) #X (C)
(2) (B), (C) ¥R (D)
(3) (A) ¥R (D)
(4) (B) 3R (D)

[Question ID = 146][Question Description = S13_Social Science_Q086]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]
57)
Who first used the concept of formative evaluation in the field of educational
assessment ?
(1) Benjamin Bloom
(2) Michael Scriven
(3) Lorin W. Anderson

4) John Dewey



Sifeqer Mo o & H fohEA Hoygy RIS Jedihd o H9cdd 1 S9Ar far 2

(1) St =

(2) HEwd fgeaq

(3) A S=Tg T=TEA
(4) i fesit

[Question ID = 147][Question Description = S13_Social Science_Q087]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

*®) Match the following and choose the appropriate option.
(a) Placement evaluation (i) Learner certification
(b)  Diagnostic evaluation (ii) Mastery of subject contents
(c) Formative evaluation (iii) Assessment of entry behaviour
(d) Summative evaluation (iv) Solving learning difficulties
Options :
(1) (@)-Gv), b)), ©-G) (d)-(iii)
@) (@)-Gid), (b)-(i), ()-v), (@)-G)
(3) ()G, (b)-(iv), (©)-(i), (d)-6)
(4)  (@-Gv), (b)-Gii), (0)-), (d)-(ii)

frfafag =1 gafaa sife sk suged fasen gim .

(a) TS sweRet ()  Toremed gETOERLor

(b) iR e (i) oo w7 e

(c) Tamfome= e (iii) OV SITER HT SR

(d) TR TR (iv) SIEATH HHEATAT I A HA
fawey ;

(1) (@)-@v), (b)-(id), (©)-(), (d)-(iii)

(2)  (a)-(id), (b)-(11), (c)-(), (d)-()

(3)  (a)-(iii), (b)-(iV); ¢)~(ii), (d)-(1)

(4)  (@)-(iv), (b)-(iii), (c)~(1), (d)-(ii)

[Question ID = 148][Question Description = S13_Social Science_Q088]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

59)



Which of the following may be followed to develop evaluation procedures according to
the RTE Act 2009 ?

(A) Promote child’s knowledge, potentiality and talent
(B) Authentic and appropriate use of technology

(C) Make the child free of fear, trauma and anxiety

(D) Encourage the child to express her or his views freely
Opﬁons :

(1) Only (A), (B) and ()

(2) )

(3) Only

(4)

AR, TR 2000 F FTEN GAHA GFG B a0 % fou fefatea § 4 fege
SFHTY AT =My ?

(A) o= o I, &1 S AT ol =Td T

(B) WrENfiTen! =Rl WTHITUER UE 399 ITAA

(Q) ™, e ud o1 § o= =l go T

(D) o= =l 39 =R a9 =49 %3 & fau geafed e

[Question ID = 149][Question Description = S13_Social Science_Q089]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]



60)

(i)  Which state rank first in the production of spices in India ?
(ii) What are the geographical conditions favourable for production of spices ?
(A) Classify, contrast and compare

(B) Evaluate and analyze information and its sources

(C) Extrapolate, predjél: events and it's effects

(D) Reason and assess cause and effect

Options :

(1) (A)only

(2) (B) and (C) only

(3) (A), (B) and (C) only

(4) (A) and (D) only

foefertad e @ i 9 aAferm ufawe giafafad 8 © €2

(i) oA H HEE 6 IS H -9 T YUH TH W E?

(i) T % IHEH & T HA-H Jriiferss uRftefmEr sewd # 2
(A) =fid ISy, ferowan eiisd iR ger ifsy

(B) SIFERRI 37 9% Tl 1 gedidA Ud faver wifsg

(C) dfeddym ifsy, se1eill Ud 37 Y&l 1 gaigam amsd

(D) =T €ifSTe, i RO Ud YWTE 1 AR HHfeT

(1)
(2) %ad (B) AR (O)
(3) wRad (A), (B) A (C)
(4) e (A) R (D)
[Question ID = 150][Question Description = S13_Social Science_Q090]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]

3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- HIN_Q91-99_L1_P2_CTET

1)

Which of the following learning outcomes is mainly reflected in the questions :



few wu ey it sargde ufew qun U @ uv o fo wed s fawew = wEn
THiTeT |

sy =1 Toren wafa & % o ffdae w9 F aere o, 31 57 gequl fowm 9 ordeH 9t &
7 - e o, W A 39 Hewyul aed &1 A el foh ook 3 foreor | gd wren-fuan 5 foen of
FY AEEF T8 | et fom if w e feror-nfwe e Fr € mrar-faan oo
THT FTHFR BT SEG S, WY B S Aeish & WY Haer § 39 ol § #El e 7 =el S, Sl
yrenst 3 arel-fasrg i are-foem 3 ffig vaifed # 81 7% ae-foee F meay gy
ST <] 3o91, IHH <, SHS| ATSIE!, TR Tgedl AR Tepamefierr | fgaE =2 o e =
wferl = HEw €7, SH T STU gESTi-SNId 7 o, 9 T S A <, SUh e ¥ v H
fafay srae yaftl S w04 &1fe % Y3d 30 gU aAfqurasi 9 favr sriand sgaq id §
o ATt 1 TEI-Ia 999 & AU R et %1 98 €| 96 R Tl oF % UeER
frrsyag aran-Tuar =1 w@a= @i Figyan %1 957 ot ot gagm €

frrsemé & wequl foam Ue o % e H i B 2
(1) Toan Hifeern

(2) #AfquEs

(3) ==
(4) AT

[Question ID = 181][Question Description = S13_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]

2. 2 [Option ID = 722]

3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2)



fau wu TNy W camude ufeu qUr U T Uy & o wew sugea fawew @ wem
THiTeT |

sy =1 Toren wafa & % o ffdae w9 F aere o, 31 57 gequl fowm 9 ordeH 9t &
7&-ir @1 o, W A 39 Heeyul e 1 A el foh Aok % foreor | g wren-fuan 5 foe o
FY AEEF T8 | et fom if w e feror-nfwe e Fr € mrar-faan oo
THT FTHFR BT SEG S, WY B S Aeish & WY Haer § 39 ol § #El e 7 =el S, Sl
yrenst 3 arel-fasrg i are-foem 3 ffig vaifed # 81 7% ae-foee F meay gy
ST 1 3991, IHH A=<, SHE| ATSIE!, TR Fged AR Tpamefiemn | fgyE =2 o aweeh =t
wferl = HEw €7, SH T STU gESTi-SNId 7 o, 9 T S A <, SUh e ¥ v H
fafay srae yaftl S w04 &1fe % Y3d 30 gU aAfqurasi 9 favr sriand sgaq id §
o ATt 1 TEI-Ia 999 & AU R et %1 98 €| 96 R Tl oF % UeER
frrsyag aran-Tuar =1 w@a= @i Figyan %1 957 ot ot gagm €

T o STaR H1e-Toen =1 o 1 S 8 S8 €2
(1) TSN =i fereor Hifa
(2) HBYEA I fawl yEHA
(3) I 1 T feaw
(4) ST i YeEA 9iafd

[Question ID = 182][Question Description = S13_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)



few wu ey it sargde ufew qun U @ uv o fo wed s fawew = wEn
THiTeT |

sy =1 Toren wafa & % o ffdae w9 F T o, 3R 57 gequl fowe 9 omdsH st &
7 - e o, W A 39 Hewyul aed 1 A el foh aers 3 foreor | g wren-fuan 5 foe o
FY AEEF T8 | et fom if w e feror-nfwe e Fr € mrar-faan oo
T FTHEFR BT SEG S, WY B S Aieish & Wiy e § 39 ol § #El e 7 =el S, Sl
yrenst 3 arel-fasmr i are-foe 3 ffig vaifed = 81 7% ae-foee F meay vy
ST <] 3o91, IHH <, SHS| ATSIE!, TR Tgedl AR Tepamefierr | fgaE =2 o e =
wferl = HEw €7, SH T STU gESTi-SNId 7 o, 9 T S A <, SUh e ¥ v H
fafay TeiAmTes yafta Suas A onfg % gard <0 g Afvvrasi 9 faviy srderd e +id €
o AT 1 WIS 999 & AU SR e %1 98 €| 96 R Tl oF % 9enER
frrsyag aran-Tuar =1 w@a= @i Figyan %1 957 ot ot gagm €

TS 3 arerek & e | qd foweh e =1 ereedss 7 ?
(1) Toame & At

(2) TeTehi o HIdT-fodr

(3) erhi & HedifsAl

(4)  ifdeRm =h

[Question ID = 183][Question Description = S13_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)



few wu ey it sargde ufew qun U @ uv o fo wed s fawew = wEn
THiTeT |

sy =1 Toren wafa & % § ffdae ®9 F T o, 3R 7 gequl fowm 9 ordsH 9t &
7 - e o, W A 39 Hewyul aed 1 A el foh aers 3 foreor | g wren-fuan 5 foe o
FY AEEF T8 | et fom if w e feror-nfwe e Fr € mrar-faan oo
THT FTHFR BT SEG S, WY B S Aeish & WY Haer § 39 ol § #El e 7 =el S, Sl
yrenst 3 arel-fasmr i are-foe 3 ffig vaifed = 81 7% ae-foee F meay vy
ST <] 3o91, IHH <, SHS| ATSIE!, TR Tgedl AR Tepamefierr | fgaE =2 o e =
wferl = HEw €7, SH T STU gESTi-SNId 7 o, 9 T S A <, SUh e ¥ v H
fafay srae yaftl S w04 &1fe % Y3d 30 gU aAfqurasi 9 favr sriand sgaq id §
o AT 1 WIS 999 & AU SR e %1 98 €| 96 R Tl oF % 9enER
frrsyag aran-Tuar =1 w@a= @i Figyan %1 957 ot ot gagm €

I T % STTER AT e 1 HeerqY us A1 7 ?
(1) dreIg%&Ih

2

(2) = fEe

(3) ==l I TeRameierd

(4) == H SITEA

[Question ID = 184][Question Description = S13_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 733]

2. 2 [Option ID = 734]

3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

3)



few wu ey it sargde ufew qun U @ uv o fo wed s fawew = wEn
THiTeT |

sy =1 Toren wafa & % § ffdae ®9 F T o, 3R 7 gequl fowm 9 ordsH 9t &
7 - e o, W A 39 Hewyul aed 1 A el foh aers 3 foreor | g wren-fuan 5 foe o
FY AEEF T8 | et fom if w e feror-nfwe e Fr € mrar-faan oo
THT FTHFR BT SEG S, WY B S Aeish & WY Haer § 39 ol § #El e 7 =el S, Sl
yrenst J arel-fasmr i are-foen 3 ffig vaifed w1 81 7% ae-foee F meay vy
ST <] 3o91, IHH <, SHS| ATSIE!, TR Tgedl AR Tepamefierr | fgaE =2 o e =
wferl = HEw €7, SH T STU gESTi-SNId 7 o, 9 T S A <, SUh e ¥ v H
fafay srae yaftl S w04 &1fe % Y3d 30 gU aAfqurasi 9 favr sriand sgaq id §
o AT 1 WIS 999 & AU SR e %1 98 €| 96 R Tl oF % 9enER
frrsyag aran-Tuar =1 w@a= @i Figyan %1 957 ot ot gagm €

= o e o el § e il 1 = game <4 § 2
(1) == WY a8 | gEl 1 = |

(2) ==l I SRY d @Al =18 |

(3) =l bl aHa W favam T8 s =fen)

(4) =1 F WH HH HA o1 TN |

[Question ID = 185][Question Description = S13_Hindi Content/Pedagogy_Q095]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)



few wu ey it sargde ufew qun U @ uv o fo wed s fawew = wEn
THiTeT |

sy =1 Toren wafa & % o ffdae w9 F aere o, 31 57 gequl fowm 9 ordeH 9t &
7 - e o, W A 39 Hewyul aed 1 A el foh aers 3 foreor | g wren-fuan 5 foe o
FY AEYIF &l | ey fag Hifq e erm-ufme # anism ww € ma-fada oo
THT FTHFR BT SEG S, WY B S Aeish & WY Haer § 39 ol § #El e 7 =el S, Sl
yrenst 3 arel-fasrg i are-foem 3 ffig vaifed # 81 7% ae-foee F meay gy
ST <] 3o91, IHH <, SHS| ATSIE!, TR Tgedl AR Tepamefierr | fgaE =2 o e =
el o1 Te <, 39 W 79T SSRTU- ST A 419, SH TE HH i o, SOk I gg R H
fafay srae yaftl S w04 &1fe % Y3d 30 gU aAfqurasi 9 favr sriand sgaq id §
o =TeTe 1 S-S 9 F AU R H g w1 ORe € | S $ S o7 % 9eER
firsgeme wren-foe =1 T @i Frigwan &1 gam o= off gEm 2

Tenie it fovaaeg % MR W e S "ehel & i Frgae -

(1) wHAI=HEE o1

(2) fTorenfeag &)

(3) wemEfe AfEeRl 41

(4) THFSTEATTH o |

[Question ID = 186][Question Description = S13_Hindi Content/Pedagogy_Q096]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

7)



few wu ey it sargde ufew qun U @ uv o fo wed s fawew = wEn
THiTeT |

sy =1 Toren wafa & % § ffdae ®9 F T o, 3R 7 gequl fowm 9 ordsH 9t &
7 - e o, W A 39 Hewyul aed 1 A el foh aers 3 foreor | g wren-fuan 5 foe o
FY AEYIF &l | ey fag Hifq e erm-ufme # anism ww € ma-fada oo
THT FTHFR BT SEG S, WY B S Aeish & WY Haer § 39 ol § #El e 7 =el S, Sl
yrenst J arel-fasmr i are-foen 3 ffig vaifed w1 81 7% ae-foee F meay vy
ST <] 3o91, IHH <, SHS| ATSIE!, TR Tgedl AR Tepamefierr | fgaE =2 o e =
wferl = HEw €7, SH T STU gESTi-SNId 7 o, 9 T S A <, SUh e ¥ v H
fafay srae yaftl S w04 &1fe % Y3d 30 gU aAfqurasi 9 favr sriand sgaq id §
o AT 1 WIS 999 & AU SR e %1 98 €| 96 R Tl oF % 9enER
frrsyag aran-Tuar =1 w@a= @i Figyan %1 957 ot ot gagm €

‘fopmefieran’ & e & -

[Question ID = 187][Question Description = S13_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)



few wu ey it sargde ufew qun U @ uv o fo wed s fawew = wEn
THiTeT |

sy =1 Toren wafa & % o ffdae w9 F T o, 3R 57 gequl fowe 9 omdsH st &
7 - e o, W A 39 Hewyul aed 1 A el foh aers 3 foreor | g wren-fuan 5 foe o
FY AEEF T8 | et fom if w e feror-nfwe e Fr € mrar-faan oo
THT FTHFR BT SEG S, WY B S Aeish & WY Haer § 39 ol § #El e 7 =el S, Sl
yrenst 3 arel-fasmr i are-foe 3 ffig vaifed = 81 7% ae-foee F meay vy
ST <] 3o91, IHH <, SHS| ATSIE!, TR Tgedl AR Tepamefierr | fgaE =2 o e =
el o1 Te <, 39 W 79T SSRTU- ST A 419, SH TE HH i o, SOk I gg R H
fafay TeiAmTes yafta Suas A onfg % gard <0 g Afvvrasi 9 faviy srderd e +id €
o aTeTe 1 TaI-=a 9 F AU SR H geE w1 ORe € | S $ S o % 9eER
firsgeme wren-foe =1 T @i Frigwan &1 gam o= off gEm 2

‘- foreror’ =1 o fame § -

) drcTeh o T

2) e AR faem

3) areish | forerm

(4) S § foem

,._\,._\_,_\_
—

[Question ID = 188][Question Description = S13_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

9)



fau wu TNy W camude ufeu qUr U T Uy & o wew sugea fawew @ wem
THiTeT |

sy =1 Toren wafa & % o ffdae w9 F aere o, 31 57 gequl fowm 9 ordeH 9t &
7&-ir @1 o, W A 39 Heeyul e &I A el foh ek % foreor | g wren-fuan 5 foe o
FY AEEF T8 | et fom if w e feror-nfwe e Fr € mrar-faan oo
THT FTHFR BT SEG S, WY B S Aeish & WY Haer § 39 ol § #El e 7 =el S, Sl
yrenst 3 arel-fasrg i are-foem 3 ffig vaifed # 81 7% ae-foee F meay gy
ST 1 3991, IHH A=<, SHE| ATSIE!, TR Fged AR Tpamefiemn | fgyE =2 o aweeh =t
wferl = HEw €7, SH T STU gESTi-SNId 7 o, 9 T S A <, SUh e ¥ v H
fafay srae yaftl S w04 &1fe % Y3d 30 gU aAfqurasi 9 favr sriand sgaq id §
o ATt 1 TEI-Ia 999 & AU R et %1 98 €| 96 R Tl oF % UeER
frrsyag aran-Tuar =1 w@a= @i Figyan %1 957 ot ot gagm €

T ores § 1’ U IR A1 Hieh S1eg T 2

(1) Targmor
(2) &=
(3) fo=mrm
(4) wEds

[Question ID = 189][Question Description = S13_Hindi Content/Pedagogy_Q099]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET

1)



feu w¢ wEnyT i sagde ufew qur 9B U Uy o fow dew sugem fawew & wae
hifea |

H g 7% Wy wel

S et TEd A9 O

Foft & S 7 WA

A9 =EifEe sifaeR,

Fft TE S e R €

YT TR AR,

Tk kel B A1 3Tk

Y e B Y9 e,

T g 37 919 wEl

S el wEd @ O

fefa e wifee =

ST 39 STM-TI=w,

57 feman w A &

Ik AL H SR,

& o o0 o Gl §

SR =hT WL |
ST Tie Wil TEn arel @i -t fasma gafa gl €2
(1) S5 & |EA e gl
(2) |l W WHEH F o
(3) 3 % 9 AT ghm
(4) Heg WY @S =

[Question ID = 190][Question Description = S13_Hindi Content/Pedagogy_Q100]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

2)



feu wTu wenyT it saTgEe ufew dom U MU wyA & fow wew sugad fashea @ waA
caiE
H T 7% 9y wEl
it et T ST T
Foff T S a9 TR §
A1 e SAfHER,
ol & S 98 TohRd ©
Y FAER SR,
TF el 8 41 37
B IDRCE IR LR S
H g 37 919 Gl
Sit et T STt W
Feig grepe =i o
Sil 39 ITR-TER,
forep fogar B &
T 3T = R,
Tél fo 99 T Gl §
ST hT TTH |
g el vae § /n arfm &7
(1) <vsed Hal H 98 &A1
(2) SEFHEEE B
(3) U TR T HEA
(4) =l fagm T T

[Question ID = 191][Question Description = S13_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

3)



feu wTu wenyT St eaTgEe ufew dom U T uyA & fou wew suged fashea @ waA
caiE

H T 7% 9y wEl

S =t TE ST O3

Foft T St 9 Tha ©

A1 e SAfHER,

ol & S 98 TohRd ©

Y FAER TR,

TF el 8 41 37

B IDRCE IR LR S

H g 37 919 Gl

St Het wE 1o g

Feig grepe =i o

Sil 39 ITR-TER,

forep fogar B &

I 3T = R,

Tél fo 99 T Gl §

ST hT TTH |
H ¥ 3 Ty wiE T e § -
(1) 39 rll =1 |1 Y
(2) = @I % WY FHEHATA HE
(3) A @F o Y Tl
(4) A ATk WY T HE

[Question ID = 192][Question Description = S13_Hindi Content/Pedagogy_Q102]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

4)



feu wTu wenyT it saTgEe ufew dom U MU wyA & fow wew sugad fashea @ waA
caiE

H T 7% 9y wEl

S = T ST T3

Foff T S a9 TR §

A1 e SAfHER,

ol TE S TE TohRd ©

Y FAER SR,

TF el 8 41 37

B IDRCE IR LR S

H g 376 919 Gl

St et TEd 1o g

Feig grepe =i o

Sil 39 ITR-TER,

o fogar B &

T 3T = R,

Tél fo 99 T Gl §

ST hT TTH |
"SIl TR % T g9 TEl @d & qg WE oy HieR | s 82
(1) =it 7 S 9 wehd §
(2) TAsfa gt =it
(3) g @E E YR e
(4) & 5= 9 T Hheht At o
[Question ID = 193][Question Description = $13_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]

3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

3)



feu wu wenyT it saTgEe ufew dom U MU wyA & fow wew sugad fasea @ wEA

caiE
H T 7% 9y wEl
S =t TE ST O3
il & S T T
A1 e SAfHER,
FHell T S e g #
Y FAER SR,
TF el 8 41 37
B IDRCE IR LR S
H g 37 919 Gl
St Het TEd 1o g
¥ gt =ifed o
Sil 39 ITR-TER,
forep fogar B &
T 3T = R,
Tél fo 99 T Gl §
ST hT TTH |

“yraeiie T ered ¥ -

(1) =

(2) TAAR

(3) d5H

(4) T

[Question ID = 194][Question Description = S13_Hindi Content/Pedagogy_Q104]

1. 1 [Option ID = 773]

2. 2 [Option ID = 774]

3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

6)



feu wu wenyT it saTgEe ufew dom U MU wyA & fow wew sugad fasea @ wEA
caiE
H T 7% 9y wEl
S =t TE ST O3
Foff T S a9 TR §
A1 e SAfHER,
FHell T S e g #
Y FAER SR,
TF el 8 41 37
B IDRCE IR LR S
H g 37 919 Gl
St Het TEd 1o g
¥ gt =ifed o
Sil 39 ITR-TER,
forep fogar B &
T 3T = R,
Tél fo 99 T Gl §
ST hT TTH |
‘e ® wf fae & -
(1) =™+ 3f=a
(2) =+ f=a
(3) 1 + Afed
(4) =F + Sf=d
[Question ID = 195][Question Description = $13_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]

3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET
1)
afg feneff @ez e o Hewl # 1 sifvw & o 3w feafa | = frermn =1 @0 ol 2 =fee ?
O EREULEIRED
(2) A Hfed
(3) HefiRTT I I
(4) oF: ferarems o foenedf &fea
[Question ID = 196][Question Description = S13_Hindi Content/Pedagogy_Q106]
L

3. 3 [Option ID = 783]
4. 4 [Option ID = 784]



2)

el o STHR T 97s8 THE skl AT K1 =1 FHa Hw ?
(1) HATHF FHEEH

(2) eHIETHER FHEER

(3) AR HHEIEI
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[Question ID = 197][Question Description = S13_Hindi Content/Pedagogy_Q107]
1. 1 [Option ID = 785]

2. 2 [Option ID = 786]

3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

Y foenfeiei 6 e el 9§98 w0 foe ged e Aee 9 7
(1) 3% 9@ ga & fau se
(2) g FHd et 9 g
(3) I O A sAfverd T F faw Fa
(4) 3% fafv= wer =t areq da afafafedi § am o % fa geted s

[Question ID = 198][Question Description = S13_Hindi Content/Pedagogy_Q108]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]
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[Question ID = 199][Question Description = S13_Hindi Content/Pedagogy_Q109]

1. 1 [Option ID = 793]

2. 2 [Option ID = 794]

3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

3)

-t fafafe s o arefoss Teafadi & s & wEn § sifes geraa 78 w0 ?
(1) v9HIE H Tkl Al
(2) WU |IERIT &1 92

(3) HHER G
(4) wfafarareres sHa foram

[Question ID = 200][Question Description = S13_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]



6)

ek SIS 3119k Tl ek UIoeafier el § o) hrorel & faeerd o foanfeldi =t mee 8
el 22

(1) Y& fuifta arezers gm

(2) Treifa oreagw g7

(3) T=E Ffda gt & mem § sfafem g=amd o

(4) HrafEss gderst g

[Question ID = 201][Question Description = S13_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]
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[Question ID = 202][Question Description = S13_Hindi Content/Pedagogy_Q112]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]
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[Question ID = 203][Question Description = S13_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]
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[Question ID = 204][Question Description = S13_Hindi Content/Pedagogy_Q114]



1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]
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[Question ID = 205][Question Description = S13_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]
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1[Q:u[egti<_>n |||; =822(1)]6][Question Description = $13_Hindi Content/Pedagogy_Q116]

2. 2 [Option ID = 822]

3. 3 [Option ID = 823]
4. 4 [Option ID = 824]
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[Question ID = 207][Question Description = S13_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]
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[Question ID = 208][Question Description = S13_Hindi Content/Pedagogy_Q118]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]
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[Question ID = 209][Question Description = S13_Hindi Content/Pedagogy_Q119]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
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[Question ID = 210][Question Description = S13_Hindi Content/Pedagogy_Q120]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

Topic:- ENG_Q121-128_L2_P2_CTET
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Read the following passage and answer the question that follows:

25

Tom Hamilton liked his Aunt Providence. She taught at the university. Her full name was
Dr. Providence Hamilton. When she came to Tom's father’s farm in the Cowichn Valley on
Vancouver island, which is part of the province of British Columbia, she always brought
beautiful presents. Tom always waited eagerly for her arrival. However, he didn’t like her
constant companion, a dog, Genevieve Truchert.

Tom Hamilton was fond of other dogs. He had a dog, a bull terrier called Rusty, a fighter
right from the word go. Rusty kept the pheasants out of the garden and earned his living,
Tom thought that Genevieve was good for nothing. She never even looked like a dog. She
was a great big soft wheezing lazy whagging monster, a great big useless lump.

Dog’s behavioral quirks, much like those of humans, aren’t mere products of genetics or
pedigree; experiences are a crucial factor also. “Every dog is different”. And yes, breed is an
undeniably powerful factor ina dog’s behavior. Experts agree that dog behavior is the product
of a multitude of factors, among them, genes, development, socialization and the environment
in which they grow. The key ingredient in every recipe, though, is always us, the people
who fancy themselves the arbiters of what makes a dog, a dog.

At first perhaps lopsided, the relationship soon became more mutually beneficial. People
realized that dogs could enhance human'’s ability to feed and protect thier families and their
sheep and cattle also. The animals would do this in exchange for food, shelter and maybe
some well-earned belly rubs.

Where does Tom live with his father ?

(1
(2
(3
(4

)
)
)
)

in an apartment
in a big mansion
on a farm

in an outhouse

[Question ID = 436][Question Description = S13_English Content/Pedagogy_Q121]
1. 1 [Option ID = 1741]
2. 2 [Option ID = 1742]
3. 3 [Option ID = 1743]
4. 4 [Option ID = 1744]
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Read the following passage and answer the question that follows:

1. Tom Hamilton liked his Aunt Providence. She taught at the university. Her full name was
Dr. Providence Hamilton. When she came to Tom's father’s farm in the Cowichn Valley on
Vancouver island, which is part of the province of British Columbia, she always brought
beautiful presents. Tom always waited eagerly for her arrival. However, he didn’t like her
constant companion, a dog, Genevieve Truchert.

2.  Tom Hamilton was fond of other dogs. He had a dog, a bull terrier called Rusty, a fighter
right from the word go. Rusty kept the pheasants out of the garden and earned his living,
Tom thought that Genevieve was good for nothing. She never even looked like a dog. She
was a great big soft wheezing lazy whagging monster, a great big useless lump.

3. Dog's behavioral quirks, much like those of humans, aren’t mere products of genetics or
pedigree; experiences are a crucial factor also. “Every dog is different”. And yes, breed is an
undeniably powerful factor ina dog’s behavior. Experts agree that dog behavior is the product
of a multitude of factors, among them, genes, development, socialization and the environment
in which they grow. The key ingredient in every recipe, though, is always us, the people
who fancy themselves the arbiters of what makes a dog, a dog.

4. At first perhaps lopsided, the relationship soon became more mutually beneficial. People
realized that dogs could enhance human'’s ability to feed and protect thier families and their
sheep and cattle also. The animals would do this in exchange for food, shelter and maybe
some well-earned belly rubs.

How did Rusty earn his living ?

—

) He guarded Tom’s garden.

2) He worked as a therapy dog,.

3) He chased away the bulls from his farmhouse.
(4) He acted as a livestock guardian.

(
(
(

[Question ID = 437][Question Description = S13_English Content/Pedagogy_Q122]
1. 1 [Option ID = 1745]
2. 2 [Option ID = 1746]
3. 3 [Option ID = 1747]
4. 4 [Option ID = 1748]
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Read the following passage and answer the question that follows:

1; Tom Hamilton liked his Aunt Providence. She taught at the university. Her full name was
Dr. Providence Hamilton. When she came to Tom's father’s farm in the Cowichn Valley on
Vancouver island, which is part of the province of British Columbia, she always brought
beautiful presents. Tom always waited eagerly for her arrival. However, he didn’t like her
constant companion, a dog, Genevieve Truchert.

2. Tom Hamilton was fond of other dogs. He had a dog, a bull terrier called Rusty, a fighter
right from the word go. Rusty kept the pheasants out of the garden and earned his living,
Tom thought that Genevieve was good for nothing. She never even looked like a dog. She
was a great big soft wheezing lazy whagging monster, a great big useless lump.

3. Dog's behavioral quirks, much like those of humans, aren’t mere products of genetics or
pedigree; experiences are a crucial factor also. “Every dog is different”. And yes, breed is an
undeniably powerful factor ina dog’s behavior. Experts agree that dog behavior is the product
of a multitude of factors, among them, genes, development, socialization and the environment
in which they grow. The key ingredient in every recipe, though, is always us, the people
who fancy themselves the arbiters of what makes a dog, a dog.

4. At first perhaps lopsided, the relationship soon became more mutually beneficial. People
realized that dogs could enhance human'’s ability to feed and protect thier families and their
sheep and cattle also. The animals would do this in exchange for food, shelter and maybe
some well-earned belly rubs.

How does Tom feel about Genevieve ?

(1) He admires her.

(2) He is afraid of her.

(3) He is very fond of her.

(4) He thinks her to be a useless creature.

[Question ID = 438][Question Description = S13_English Content/Pedagogy_Q123]
1. 1 [Option ID = 1749]
2. 2 [Option ID = 1750]
3. 3 [Option ID = 1751]
4. 4 [Option ID = 1752]
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Read the following passage and answer the question that follows:

1.

Tom Hamilton liked his Aunt Providence. She taught at the university. Her full name was
Dr. Providence Hamilton. When she came to Tom’s father’s farm in the Cowichn Valley on
Vancouver island, which is part of the province of British Columbia, she always brought
beautiful presents. Tom always waited eagerly for her arrival. However, he didn’t like her
constant companion, a dog, Genevieve Truchert.

Tom Hamilton was fond of other dogs. He had a dog, a bull terrier called Rusty, a fighter
right from the word go. Rusty kept the pheasants out of the garden and earned his living,
Tom thought that Genevieve was good for nothing. She never even looked like a dog. She
was a great big soft wheezing lazy whagging monster, a great big useless lump.

Dog’s behavioral quirks, much like those of humans, aren’t mere products of genetics or
pedigree; experiences are a crucial factor also. “Every dog is different”. And yes, breed is an
undeniably powerful factor ina dog’s behavior. Experts agree that dog behavior is the product
of a multitude of factors, among them, genes, development, socialization and the environment
in which they grow. The key ingredient in every recipe, though, is always us, the people
who fancy themselves the arbiters of what makes a dog, a dog.

At first perhaps lopsided, the relationship soon became more mutually beneficial. People
realized that dogs could enhance human’s ability to feed and protect thier families and their
sheep and cattle also. The animals would do this in exchange for food, shelter and maybe
some well-earned belly rubs.

Read the following statements :

(A)
B)
)

)
3)
1

e T e, S R
)

Tom awaited eagerly for his aunt’s arrival becuase his dog Rusty liked to play with Genevieve
Truchert,

Humans keep dogs as pets as they are good entertainers.
(A) is true and (B) is false.
(A) is false and (B) is true.
Both (A) and (B) are false.
Both (A) and (B) are true.

[Question ID = 439][Question Description = S13_English Content/Pedagogy_Q124]
1. 1 [Option ID = 1753]
2. 2 [Option ID = 1754]
3. 3 [Option ID = 1755]
4. 4 [Option ID = 1756]
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Read the following passage and answer the question that follows:

i 25

Tom Hamilton liked his Aunt Providence. She taught at the university. Her full name was
Dr. Providence Hamilton. When she came to Tom's father’s farm in the Cowichn Valley on
Vancouver island, which is part of the province of British Columbia, she always brought
beautiful presents. Tom always waited eagerly for her arrival. However, he didn’t like her
constant companion, a dog, Genevieve Truchert.

Tom Hamilton was fond of other dogs. He had a dog, a bull terrier called Rusty, a fighter
right from the word go. Rusty kept the pheasants out of the garden and earned his living,
Tom thought that Genevieve was good for nothing. She never even looked like a dog. She
was a great big soft wheezing lazy whagging monster, a great big useless lump.

Dog’s behavioral quirks, much like those of humans, aren’t mere products of genetics or
pedigree; experiences are a crucial factor also. “Every dog is different”. And yes, breed is an
undeniably powerful factor ina dog’s behavior. Experts agree that dog behavior is the product
of a multitude of factors, among them, genes, development, socialization and the environment
in which they grow. The key ingredient in every recipe, though, is always us, the people
who fancy themselves the arbiters of what makes a dog, a dog.

At first perhaps lopsided, the relationship soon became more mutually beneficial. People
realized that dogs could enhance human'’s ability to feed and protect thier families and their
sheep and cattle also. The animals would do this in exchange for food, shelter and maybe
some well-earned belly rubs.

Which of the following does not describe Genevieve Truchert ?

(1
(2
(3
(4

)

)
)
)

a lazy monster

a companion to Dr. Hamilton
a fighter

a good for nothing dog

[Question ID = 440][Question Description = S13_English Content/Pedagogy_Q125]
1. 1 [Option ID = 1757]
2. 2 [Option ID = 1758]
3. 3 [Option ID = 1759]
4. 4 [Option ID = 1760]
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Read the following passage and answer the question that follows:

i 25

Tom Hamilton liked his Aunt Providence. She taught at the university. Her full name was
Dr. Providence Hamilton. When she came to Tom's father’s farm in the Cowichn Valley on
Vancouver island, which is part of the province of British Columbia, she always brought
beautiful presents. Tom always waited eagerly for her arrival. However, he didn’t like her
constant companion, a dog, Genevieve Truchert.

Tom Hamilton was fond of other dogs. He had a dog, a bull terrier called Rusty, a fighter
right from the word go. Rusty kept the pheasants out of the garden and earned his living,
Tom thought that Genevieve was good for nothing. She never even looked like a dog. She
was a great big soft wheezing lazy whagging monster, a great big useless lump.

Dog’s behavioral quirks, much like those of humans, aren’t mere products of genetics or
pedigree; experiences are a crucial factor also. “Every dog is different”. And yes, breed is an
undeniably powerful factor ina dog’s behavior. Experts agree that dog behavior is the product
of a multitude of factors, among them, genes, development, socialization and the environment
in which they grow. The key ingredient in every recipe, though, is always us, the people
who fancy themselves the arbiters of what makes a dog, a dog.

At first perhaps lopsided, the relationship soon became more mutually beneficial. People
realized that dogs could enhance human'’s ability to feed and protect thier families and their
sheep and cattle also. The animals would do this in exchange for food, shelter and maybe
some well-earned belly rubs.

Which of the following factors play the most important part in a dog’s behaviour ?

(1
(2
(3
(4

)

)
)
)

The environment in which it grows.
The basic heredity factor.
The socialization experience with other animals.

The humans it interacts with.

[Question ID = 441][Question Description = S13_English Content/Pedagogy_Q126]
1. 1 [Option ID = 1761]
2. 2 [Option ID = 1762]
3. 3 [Option ID = 1763]
4. 4 [Option ID = 1764]
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Read the following passage and answer the question that follows:

i 25

Tom Hamilton liked his Aunt Providence. She taught at the university. Her full name was
Dr. Providence Hamilton. When she came to Tom's father’s farm in the Cowichn Valley on
Vancouver island, which is part of the province of British Columbia, she always brought
beautiful presents. Tom always waited eagerly for her arrival. However, he didn’t like her
constant companion, a dog, Genevieve Truchert.

Tom Hamilton was fond of other dogs. He had a dog, a bull terrier called Rusty, a fighter
right from the word go. Rusty kept the pheasants out of the garden and earned his living,
Tom thought that Genevieve was good for nothing. She never even looked like a dog. She
was a great big soft wheezing lazy whagging monster, a great big useless lump.

Dog’s behavioral quirks, much like those of humans, aren’t mere products of genetics or
pedigree; experiences are a crucial factor also. “Every dog is different”. And yes, breed is an
undeniably powerful factor ina dog’s behavior. Experts agree that dog behavior is the product
of a multitude of factors, among them, genes, development, socialization and the environment
in which they grow. The key ingredient in every recipe, though, is always us, the people
who fancy themselves the arbiters of what makes a dog, a dog.

At first perhaps lopsided, the relationship soon became more mutually beneficial. People
realized that dogs could enhance human'’s ability to feed and protect thier families and their
sheep and cattle also. The animals would do this in exchange for food, shelter and maybe
some well-earned belly rubs.

‘Quirks” in para 3 means the same as :

whims

[Question ID = 442][Question Description = S13_English Content/Pedagogy_Q127]
1. 1 [Option ID = 1765]
2. 2 [Option ID = 1766]
3. 3 [Option ID = 1767]
4. 4 [Option ID = 1768]
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Read the following passage and answer the question that follows:

i 25

Tom Hamilton liked his Aunt Providence. She taught at the university. Her full name was
Dr. Providence Hamilton. When she came to Tom's father’s farm in the Cowichn Valley on
Vancouver island, which is part of the province of British Columbia, she always brought
beautiful presents. Tom always waited eagerly for her arrival. However, he didn’t like her
constant companion, a dog, Genevieve Truchert.

Tom Hamilton was fond of other dogs. He had a dog, a bull terrier called Rusty, a fighter
right from the word go. Rusty kept the pheasants out of the garden and earned his living,
Tom thought that Genevieve was good for nothing. She never even looked like a dog. She
was a great big soft wheezing lazy whagging monster, a great big useless lump.

Dog’s behavioral quirks, much like those of humans, aren’t mere products of genetics or
pedigree; experiences are a crucial factor also. “Every dog is different”. And yes, breed is an
undeniably powerful factor ina dog’s behavior. Experts agree that dog behavior is the product
of a multitude of factors, among them, genes, development, socialization and the environment
in which they grow. The key ingredient in every recipe, though, is always us, the people
who fancy themselves the arbiters of what makes a dog, a dog.

At first perhaps lopsided, the relationship soon became more mutually beneficial. People
realized that dogs could enhance human'’s ability to feed and protect thier families and their
sheep and cattle also. The animals would do this in exchange for food, shelter and maybe
some well-earned belly rubs.

‘Island” in “Vancouver island’ is used as a/an :

(1
(2
(3
(4

)

)
)
)

adverb
noun
adjective

verb

[Question ID = 443][Question Description = S13_English Content/Pedagogy_Q128]
1. 1 [Option ID = 1769]
2. 2 [Option ID = 1770]
3. 3 [Option ID = 1771]
4. 4 [Option ID = 1772]

Topic:- ENG_Q129-135_L2_P2_CTET
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Read the following passage and answer the question that follow :

1.

Good writers know their way around a metaphor, where you make an analogy between two
things to show how one resembles the other in some way. A metaphor is a poetic device that
deals with comparisons. It compares similar qualities of two dissimilar objects. With a simple
metaphor, one object becomes the other ; Love is a rose. Thus, metaphor can communicate
so much about a particular image, that poets use them more than any other type of figurative
language. The reason for this is that poets compose their poetry to express what they are
experiencing emotionally at that moment. Consequently, what the poet imagines love to be
may or may not agree with our perception of love. Therefore, the poet’s job is to enable us to
experience it, to feel it the same way the poet does. We should be able to nod in agreement
and say, “Yes, that's it! I understand precisely.”

Metaphors have been studied for a long time from different perspectives. Philosophers tend
to consider language as literal, thinking metaphors to be aberrant, only to be used by poets.
Cognitive linguistics view metaphors as important and not marginal at all, emphasizing the
construal of meanings and our embodied understandings of the situation. Traditionally, a
metaphor is treated as a part of figurative language such as simile, an explicit comparison
signalled by the word ‘like’ or ‘as’, It is viewed as a characteristics of language alone.
Philosophers like language to be literal. Some scholars believe that a metaphor is simply a
matter of bringing out similarity between one thing and another apparently different thing
ie, saying one thing in terms of something else. Robert Frost has said, “Poety provides the
one permissible way of saying one thing and meaning another.” Words do have their literal
meaning but they can also be used so that something other than the literal meaning is implied
e.g., when we say “That man is a pig”. It is clear that literal meaning cannot be true.

Metaphors are often used by :

(1
(2
(3
(4

)

)
)
)

philosophers
poets

research Scholars
cognitive linguists

[Question ID = 444][Question Description = S13_English Content/Pedagogy_Q129]
1. 1 [Option ID = 1773]
2. 2 [Option ID = 1774]
3. 3 [Option ID = 1775]
4. 4 [Option ID = 1776]
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Read the following passage and answer the question that follow :
1;

Good writers know their way around a metaphor, where you make an analogy between two
things to show how one resembles the other in some way. A metaphor is a poetic device that
deals with comparisons. It compares similar qualities of two dissimilar objects. With a simple
metaphor, one object becomes the other ; Love is a rose. Thus, metaphor can communicate
so much about a particular image, that poets use them more than any other type of figurative
language. The reason for this is that poets compose their poetry to express what they are
experiencing emotionally at that moment. Consequently, what the poet imagines love to be
may or may not agree with our perception of love. Therefore, the poet’s job is to enable us to
experience it, to feel it the same way the poet does. We should be able to nod in agreement
and say, “Yes, that's it! I understand precisely.”

Metaphors have been studied for a long time from different perspectives. Philosophers tend
to consider language as literal, thinking metaphors to be aberrant, only to be used by poets.
Cognitive linguistics view metaphors as important and not marginal at all, emphasizing the
construal of meanings and our embodied understandings of the situation. Traditionally, a
metaphor is treated as a part of figurative language such as simile, an explicit comparison
signalled by the word ‘like’ or ‘as’, It is viewed as a characteristics of language alone.
Philosophers like language to be literal. Some scholars believe that a metaphor is simply a
matter of bringing out similarity between one thing and another apparently different thing
ie, saying one thing in terms of something else. Robert Frost has said, “Poety provides the
one permissible way of saying one thing and meaning another.” Words do have their literal
meaning but they can also be used so that something other than the literal meaning is implied
e.g., when we say “That man is a pig”. It is clear that literal meaning cannot be true.

Which of the following statements is NOT correct ?

(
(
(
(

1)

2)
5)
2

Metaphors are examples given to help us understand a concept better.
Metaphor is a figure of speech no longer in use.

Metaphors bring out similarities in dissimilar objects.

Philosophers believe that metaphors are used only by poets.

[Question ID = 445][Question Description = S13_English Content/Pedagogy_Q130]
1. 1 [Option ID = 1777]
2. 2 [Option ID = 1778]
3. 3 [Option ID = 1779]
4. 4 [Option ID = 1780]
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Read the following passage and answer the question that follow :

1.

Good writers know their way around a metaphor, where you make an analogy between two
things to show how one resembles the other in some way. A metaphor is a poetic device that
deals with comparisons. It compares similar qualities of two dissimilar objects. With a simple
metaphor, one object becomes the other ; Love is a rose. Thus, metaphor can communicate
so much about a particular image, that poets use them more than any other type of figurative
language. The reason for this is that poets compose their poetry to express what they are
experiencing emotionally at that moment. Consequently, what the poet imagines love to be
may or may not agree with our perception of love. Therefore, the poet’s job is to enable us to
experience it, to feel it the same way the poet does. We should be able to nod in agreement
and say, “Yes, that's it! I understand precisely.”

Metaphors have been studied for a long time from different perspectives. Philosophers tend
to consider language as literal, thinking metaphors to be aberrant, only to be used by poets.
Cognitive linguistics view metaphors as important and not marginal at all, emphasizing the
construal of meanings and our embodied understandings of the situation. Traditionally, a
metaphor is treated as a part of figurative language such as simile, an explicit comparison
signalled by the word ‘like’ or ‘as’, It is viewed as a characteristics of language alone.
Philosophers like language to be literal. Some scholars believe that a metaphor is simply a
matter of bringing out similarity between one thing and another apparently different thing
ie, saying one thing in terms of something else. Robert Frost has said, “Poety provides the
one permissible way of saying one thing and meaning another.” Words do have their literal
meaning but they can also be used so that something other than the literal meaning is implied
e.g., when we say “That man is a pig”. It is clear that literal meaning cannot be true.

Cognitive linguists treat metaphors as equivalent to :

(1)
(2)
3)
(4)

an analogy
modernism
a literal interpretation
naturalism

[Question ID = 446][Question Description = S13_English Content/Pedagogy_Q131]
1. 1 [Option ID = 1781]
2. 2 [Option ID = 1782]
3. 3 [Option ID = 1783]
4. 4 [Option ID = 1784]

4)



Read the following passage and answer the question that follow :

1.

Good writers know their way around a metaphor, where you make an analogy between two
things to show how one resembles the other in some way. A metaphor is a poetic device that
deals with comparisons. It compares similar qualities of two dissimilar objects. With a simple
metaphor, one object becomes the other ; Love is a rose. Thus, metaphor can communicate
so much about a particular image, that poets use them more than any other type of figurative
language. The reason for this is that poets compose their poetry to express what they are
experiencing emotionally at that moment. Consequently, what the poet imagines love to be
may or may not agree with our perception of love. Therefore, the poet’s job is to enable us to
experience it, to feel it the same way the poet does. We should be able to nod in agreement
and say, “Yes, that's it! I understand precisely.”

Metaphors have been studied for a long time from different perspectives. Philosophers tend
to consider language as literal, thinking metaphors to be aberrant, only to be used by poets.
Cognitive linguistics view metaphors as important and not marginal at all, emphasizing the
construal of meanings and our embodied understandings of the situation. Traditionally, a
metaphor is treated as a part of figurative language such as simile, an explicit comparison
signalled by the word ‘like’ or ‘as’, It is viewed as a characteristics of language alone.
Philosophers like language to be literal. Some scholars believe that a metaphor is simply a
matter of bringing out similarity between one thing and another apparently different thing
i.e., saying one thing in terms of something else. Robert Frost has said, “Poety provides the
one permissible way of saying one thing and meaning another.” Words do have their literal
meaning but they can also be used so that something other than the literal meaning is implied
e.g., when we say “That man is a pig”. Itis clear that literal meaning cannot be true.

Read the following sentences :

(A)

(B)

(1
(2
(c
(4

‘\-_-r\:E‘q_/\_J

Metaphor is linking of two or more disparate elements, which can result in an unintentional
effect.

In a metaphor, resemblance between two unlike entities is explicity indicated by the words
‘like” or ‘as’.

(A) is false but (B) is true

(A) is true but (B) is false

Both (A) and (B) are true

Both (A) and (B) are false

[Question ID = 447][Question Description = S13_English Content/Pedagogy_Q132]
1. 1 [Option ID = 1785]
2. 2 [Option ID = 1786]
3. 3 [Option ID = 1787]
4. 4 [Option ID = 1788]

5)



Read the following passage and answer the question that follow :

1.

Good writers know their way around a metaphor, where you make an analogy between two
things to show how one resembles the other in some way. A metaphor is a poetic device that
deals with comparisons. It compares similar qualities of two dissimilar objects. With a simple
metaphor, one object becomes the other ; Love is a rose. Thus, metaphor can communicate
so much about a particular image, that poets use them more than any other type of figurative
language. The reason for this is that poets compose their poetry to express what they are
experiencing emotionally at that moment. Consequently, what the poet imagines love to be
may or may not agree with our perception of love. Therefore, the poet’s job is to enable us to
experience it, to feel it the same way the poet does. We should be able to nod in agreement
and say, “Yes, that's it! I understand precisely.”

Metaphors have been studied for a long time from different perspectives. Philosophers tend
to consider language as literal, thinking metaphors to be aberrant, only to be used by poets.
Cognitive linguistics view metaphors as important and not marginal at all, emphasizing the
construal of meanings and our embodied understandings of the situation. Traditionally, a
metaphor is treated as a part of figurative language such as simile, an explicit comparison
signalled by the word ‘like’ or ‘as’, It is viewed as a characteristics of language alone.
Philosophers like language to be literal. Some scholars believe that a metaphor is simply a
matter of bringing out similarity between one thing and another apparently different thing
i.e., saying one thing in terms of something else. Robert Frost has said, “Poety provides the
one permissible way of saying one thing and meaning another.” Words do have their literal
meaning but they can also be used so that something other than the literal meaning is implied
e.g., when we say “That man is a pig”. Itis clear that literal meaning cannot be true.

In the sentence “That man is a pig’ the word “pig’ signifies that the man is :

(1
(2
(3
(4

)
)
)
)

abnormal
lazy

greedy
both (2) and (3)

[Question ID = 448][Question Description = S13_English Content/Pedagogy_Q133]
1. 1 [Option ID = 1789]
2. 2 [Option ID = 1790]
3. 3 [Option ID = 1791]
4. 4 [Option ID = 1792]

6)



Read the following passage and answer the question that follow :
1.

Good writers know their way around a metaphor, where you make an analogy between two
things to show how one resembles the other in some way. A metaphor is a poetic device that
deals with comparisons. It compares similar qualities of two dissimilar objects. With a simple
metaphor, one object becomes the other ; Love is a rose. Thus, metaphor can communicate
so much about a particular image, that poets use them more than any other type of figurative
language. The reason for this is that poets compose their poetry to express what they are
experiencing emotionally at that moment. Consequently, what the poet imagines love to be
may or may not agree with our perception of love. Therefore, the poet’s job is to enable us to
experience it, to feel it the same way the poet does. We should be able to nod in agreement
and say, “Yes, that's it! I understand precisely.”

Metaphors have been studied for a long time from different perspectives. Philosophers tend
to consider language as literal, thinking metaphors to be aberrant, only to be used by poets.
Cognitive linguistics view metaphors as important and not marginal at all, emphasizing the
construal of meanings and our embodied understandings of the situation. Traditionally, a
metaphor is treated as a part of figurative language such as simile, an explicit comparison
signalled by the word ‘like’ or ‘as’, It is viewed as a characteristics of language alone.
Philosophers like language to be literal. Some scholars believe that a metaphor is simply a
matter of bringing out similarity between one thing and another apparently different thing
i.e., saying one thing in terms of something else. Robert Frost has said, “Poety provides the
one permissible way of saying one thing and meaning another.” Words do have their literal
meaning but they can also be used so that something other than the literal meaning is implied
e.g., when we say “That man is a pig”. Itis clear that literal meaning cannot be true.

‘Aberrant’ in para 2 means the same as :

——
I

(

P =

o

)

)
)
)

uncertainty
uncommon

regular

deviant

[Question ID = 449][Question Description = S13_English Content/Pedagogy_Q134]

1
2
3.
4

7)

. 1 [Option ID = 1793]
. 2 [Option ID = 1794]
3 [Option ID = 1795]
. 4 [Option ID = 1796]



Read the following passage and answer the question that follow :

1.

Good writers know their way around a metaphor, where you make an analogy between two
things to show how one resembles the other in some way. A metaphor is a poetic device that
deals with comparisons. It compares similar qualities of two dissimilar objects. With a simple
metaphor, one object becomes the other ; Love is a rose. Thus, metaphor can communicate
so much about a particular image, that poets use them more than any other type of figurative
language. The reason for this is that poets compose their poetry to express what they are
experiencing emotionally at that moment. Consequently, what the poet imagines love to be
may or may not agree with our perception of love. Therefore, the poet’s job is to enable us to
experience it, to feel it the same way the poet does. We should be able to nod in agreement
and say, “Yes, that's it! I understand precisely.”

Metaphors have been studied for a long time from different perspectives. Philosophers tend
to consider language as literal, thinking metaphors to be aberrant, only to be used by poets.
Cognitive linguistics view metaphors as important and not marginal at all, emphasizing the
construal of meanings and our embodied understandings of the situation. Traditionally, a
metaphor is treated as a part of figurative language such as simile, an explicit comparison
signalled by the word ‘like’ or ‘as’, It is viewed as a characteristics of language alone.
Philosophers like language to be literal. Some scholars believe that a metaphor is simply a
matter of bringing out similarity between one thing and another apparently different thing
i.e., saying one thing in terms of something else. Robert Frost has said, “Poety provides the
one permissible way of saying one thing and meaning another.” Words do have their literal
meaning but they can also be used so that something other than the literal meaning is implied
e.g., when we say “That man is a pig”. Itis clear that literal meaning cannot be true.

‘Construal’ in para 2 is used as a/an :

i

)

DN =

)
)
)

o

(

verb
adverb
noun
adjective

[Question ID = 450][Question Description = S13_English Content/Pedagogy_Q135]
1. 1 [Option ID = 1797]
2. 2 [Option ID = 1798]
3. 3 [Option ID = 1799]
4. 4 [Option ID = 1800]

Topic:- ENG_Q136-150_L2_P2_CTET

1)

Which is true about Krashen's distinction of language learning and acquisition ?

(1)
(2)
(3)

(4)

Acquisition takes place in formal context while learning in informal context.
Learning is always a sub-conscious process while acquisition is a conscious process.
Learning is having an understanding of much about language while acquisition is
making use of language in different context.

Learning is implicit while acquisition is explicit.

[Question ID = 451][Question Description = S13_English Content/Pedagogy_Q136]
1. 1 [Option ID = 1801]
2. 2 [Option ID = 1802]
3. 3 [Option ID = 1803]
4. 4 [Option ID = 1804]



2 Which learning theory believes errors are part of the language learning process ?

(1) Structuralist

(2) Interactionalist

(3) Behaviourist

(4) Cognitivist
[Question ID = 452][Question Description = S13_English Content/Pedagogy_Q137]
1. 1 [Option ID = 1805]
2. 2 [Option ID = 1806]

3. 3 [Option ID = 1807]
4. 4 [Option ID = 1808]

3)

In a language class, learners are asked to role play on topics such as using a menu to
order food at a cafe or restaurant or asking for directions to a particular location. Which
skills are being focused through this role play ?

(1) Listening and speaking

(2) Reading and speaking

(3) Reading and writing

(4) Speaking and writing

[Question ID = 453][Question Description = S13_English Content/Pedagogy_Q138]

1. 1 [Option ID = 1809]

2. 2 [Option ID = 1810]

3. 3 [Option ID = 1811]
4. 4 [Option ID = 1812]

4 : 3 : o 7
" Which of the following statements is not true about “descriptive grammar” ?

(1) Descriptive grammar is based on the actual usage of the language.

(2) Descriptive grammar record sentences as they are spoken or written.

(3) Descriptive grammar tells us how we ought to use the language.

(4) Descriptive grammar contains rules.

[Question ID = 454][Question Description = S13_English Content/Pedagogy_Q139]

1. 1 [Option ID = 1813]

2. 2 [Option ID = 1814]

3. 3 [Option ID = 1815]
4. 4 [Option ID = 1816]

5)
If students are consciously made aware of the grammatical rules and corrected for violating
them, the teacher is teaching grammar.
(1) explicit
(2) implicit
(3) linguistic
(4) restrictive

[Question ID = 455][Question Description = S13_English Content/Pedagogy_Q140]
1. 1 [Option ID = 1817]
2. 2 [Option ID = 1818]
3. 3 [Option ID = 1819]
4. 4 [Option ID = 1820]

6)



Some of the original words from the text are replaced with words that the learners are
familiar with. Through this process, the teacher attempts

(1) lexical control

(2) structural control

(3) informational control
(4)

4)  syllabus control

[Question ID = 456][Question Description = S13_English Content/Pedagogy_Q141]

1
2
3.
4

. 1 [Option ID = 1821]
. 2 [Option ID = 1822]
3 [Option ID = 1823]
. 4 [Option ID = 1824]

7)

[

Madhuri, an expert cook, listens to her friend on the phone who explains to her the
recipe for ‘Hyderabadi biryani’. What processing strategies is she applying ?
(1) bottom-up processing

(2) top-down processing
(3) casual listening
(4) multi-tasking

Question ID = 457][Question Description = S13_English Content/Pedagogy_Q142]

1. 1 [Option ID = 1825]

2.
3.
4.

2 [Option ID = 1826]
3 [Option ID = 1827]
4 [Option ID = 1828]

8)

In a classroom, students listen to the historical and cultural background of the story. The

teacher asks them to compare it with their background and predict the story. What kind
of task is the teacher performing ?

) Pre-reading activity
(2) While-reading activity
(3) Skimming
(4)

[Question ID = 458][Question Description = S13_English Content/Pedagogy_Q143]

1
2
3.
4

9

. 1 [Option ID = 1829]
. 2 [Option ID = 1830]

3 [Option ID = 1831]

. 4 [Option ID = 1832]

" Which one of the following statements is NOT correct about people with dyslexia ?

(1) They have poor phonological awareness.
(2) They can only copy text from the blackboard.
(3) They have difficulties with motor timing,.
(4) They confuse words which are visually alike.

[Question ID = 459][Question Description = S13_English Content/Pedagogy_Q144]

1
2
3.
4

. 1 [Option ID = 1833]
. 2 [Option ID = 1834]

3 [Option ID = 1835]

. 4 [Option ID = 1836]

10)



Which of the following completely discourages the use of the mother tongue in the language
classroom ?

(1) Bilingual approach

(2) Direct method

(3) Task-based language teaching

(4)

4) Communicative approach

[Question ID = 460][Question Description = S13_English Content/Pedagogy_Q145]
1. 1 [Option ID = 1837]
2. 2 [Option ID = 1838]
3. 3 [Option ID = 1839]
4. 4 [Option ID = 1840]

11)

A language teacher assesses the teaching-learning process throughout the session to clarify
student learning and understanding. This kind of assessment is called ;

(1)  Assessment in learning

(2) Assessment as learning
(3) Assessment for learning
(4) Assessment of learning

[Question ID = 461][Question Description = S13_English Content/Pedagogy_Q146]
1. 1 [Option ID = 1841]
2. 2 [Option ID = 1842]
3. 3 [Option ID = 1843]
4. 4 [Option ID = 1844]

12)

A teacher tries to explore a child’s creativity and imagination for classroom teaching.
She encourages her students to write a script, dialogues, stories and so on, using language
to create meaning without the constraint of it needing to be true. Which function of
language is the teacher trying to develop ?

(1) Informative

(2) Regulatory

(3) Instrumental

(4) Imaginative

[Question ID = 462][Question Description = S13_English Content/Pedagogy_Q147]
1. 1 [Option ID = 1845]
2. 2 [Option ID = 1846]
3. 3 [Option ID = 1847]
4. 4 [Option ID = 1848]

"*) The term ‘Zone of Proximal Development’ is associated with ;
(1) Lev Vygotsky

(2) Noam Chomsky

(3) Jean Piaget

(4) Stephen Krashen

[Question ID = 463][Question Description = S13_English Content/Pedagogy_Q148]
1. 1 [Option ID = 1849]
2. 2 [Option ID = 1850]
3. 3 [Option ID = 1851]
4. 4 [Option ID = 1852]



14)

(1) Intralingual error
(2) Interlingual error
(3) Overgeneralization
(4)

[Question ID = 464][Question Description = S13_English Content/Pedagogy_Q149]
1. 1 [Option ID = 1853]
2. 2 [Option ID = 1854]
3. 3 [Option ID = 1855]
4. 4[Option ID = 1856]

Error due to fatigue

15 § ;
) Functional Grammar means .

(1) Focus on form and function.
(2) Teaching grammar through rules.
(3) Teaching grammar and vocabulary together.
(4) Teaching of grammar is not the focus.
[Question ID = 465][Question Description = S13_English Content/Pedagogy_Q150]
1. 1 [Option ID = 1857]
2. 2 [Option ID = 1858]

3. 3 [Option ID = 1859]
4. 4 [Option ID = 1860]

Errors caused due to the effect from the first language is called






